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Subject 'Technician Electrical

Section : Computer Knowledge - CCC Level of NIELIT

Q1 Which of the following devices is widely used to play games on a computer?

Ans X A Plotter
& B. Printer
« C. Joystick

# D. Scanner

Question ID : 630680436939
Option 11D : 6306801705682
Option 2 1D : 6306801705681
Option 3 ID : 6306801705684
Option 4 ID : 6306801705683
Status : Answered
Chosen Option : C

Q2 wWhich of the following is NOT a valid chart used in MS-Excel 20107
Ans X A Bar

X B. Radar

« C. List

X D. Surface

Question ID : 630680436956
Option 11D : 6306801705750
Option 2 ID : 6306801705751
Option 3 ID : 6306801705749
Option 4 ID : 6306801705752
Status : Answered
Chosen Option : B
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Q.3 The 'Convert to text’ option, which is used to convert a table to text, is available in which of the following Table tools
tabs of MS-Word 20102

Ans X A Draw
X B. Review
« C. Layout

& D. References

Question ID : 630680436963
Option 1 ID : 6306801705777
Option 2 ID : 6306801705778
Option 3 ID : 6306801705780
Option 4 ID : 6306801705779
Status : Not Answered
Chosen Option : --

Q.4 What will be the output of the function call “=N("Welcome")’ in MS-Excel 20107
Ans X A g

«B. 0

X C. Welcome

XD 4

Question ID : 630680436957
Option 1 ID : 6306801705755
Option 2 ID : 6306801705754
Option 3 ID : 6306801705753
Option 4 ID : 6306801705756
Status : Not Answered
Chosen Option : --

Q.5 The maximum number of columns contained in a table of MS-Word 2010 is
Ans @A 55

X8 72

X C 61

X D. 63

Question ID : 630680436943
Option 1 ID : 6306801705697
Option 2 ID : 6306801705700
Option 3 ID : 6306801705698
Option 4 ID : 6306801705699
Status : Answered
Chosen Option : B
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Q6 Which of the following is NOT a governing body of the internet?
Ans % A Internet Research Task Force (IRTF)
X B. Internet Engineering Task Force (IETF)
+ C. Internet Assigned Task Authority (IATF)
X D. World Wide Web Consortium (W3C)
Question ID : 630680436946
Option 1 ID : 6306801705710
Option 2 ID : 6306801705709
Option 3 ID : 6306801705711
Option 4 ID : 6306801705712
Status : Answered
Chosen Option : D
Q.7 is a collection of websites or webpages stored on web servers and connected to local computers through the
internet.
Ans A TCP (Transmission Control Protocol)
X B. URL (Uniform Resource Locator)
« C. WWW (World Wide Web)
X D. ISP (Internet Service Provider)
Question ID : 630680436944
Option 1 ID : 6306801705704
Option 2 ID : 6306801705703
Option 3 ID : 6306801705702
Option 4 ID : 6306801705701
Status : Answered
Chosen Option: C
Q8 A is a type of barcode that can be read easily by a digital device and which stores information as a series of
pixels in a square-shaped grid.
Ans X A. Google Pay (GPAY)
X B. One-Time Password (OTP)
/< C. Unified Payments Interface (UPI)
«# D. Quick Response (QR) code
Question ID : 630680436982
Option 1 ID : 6306801705856
Option 2 ID : 6306801705855
Option 3 ID : 6306801705853
Option 4 ID : 6306801705854
Status : Answered
Chosen Option : D
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Q.9 Which of the following options is NOT associated with the ‘Delete Cells’ dialog box in MS-Word 2010?
Ans X A Delete entire column

X B. Shift cells up

# C. Delete entire row
« D. Split cells

Question ID : 630680436949
Option 1 ID : 6306801705724

Option 2D :
Option 31D :
Option 4 ID :

6306801705722
6306801705723
6306801705721

Status : Answered
Chosen Option : D

Q10 e &, Femiew F Prafef@a § ¥ 5w famew &1 39geT Far S8 {0 w9 & e R e
T §?

X A QfETT (Settings)
X B. ZT9cH (Drafts)
v C FAT (Compose)
x 0. fsue (Create)

Ans

Question ID : 630680436966
Option 1 ID : 6306801705792
Option 2 ID : 6306801705791
Option 3 ID : 6306801705789
Option 4 ID : 6306801705790
Status : Answered
Chosen Option : C

Q.11 Which of the following refers to high-capacity transmission technologies that transmit data, voice and video across long
distances and at high speeds using fibre optic cables?

Ans X A Dialup
X B. Public switched telephone network

+ C. Broadband
#< D. Bandwidth

Question ID : 630680436947

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801705715
6306801705716
6306801705713
6306801705714
Answered

C

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393/...

4/100



11/23/23, 2:32 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

Q.12 To edit the contents of a cell in MS-Excel 2010, one must select the cell that contains the data and then press the
key.

Ans X A F4
« B T2
XC F3
X D. F5

Question ID : 630680436953
Option 1 ID : 6306801705740
Option 2 ID : 6306801705738
Option 3 ID : 6306801705737
Option 4 ID : 6306801705739
Status : Answered
Chosen Option : B

Q.13 Which of the following features of MS-Excel 2010 is used to join selected cells into one larger cell and centres the
content in the new cell?

Ans X A. Format as table
X B. Conditional formatting
X c. Wrap Text
« D. Merge & Center
Question ID : 630680436965
Option 1 ID : 6306801705786
Option 2 ID : 6306801705787
Option 3 ID : 6306801705785
Option 4 ID : 6306801705788
Status : Marked For Review
Chosen Option : D
Q.14 Inthe context of creation of an email, you can use to send an email carbon copy to multiple recipients; however,

each recipient cannot see who is on the list of other recipients.
Ans :
X A. Subject
¥ B. Bee

X C. Add text
X D. Cc

Question ID : 630680436967
Option 1 ID : 6306801705793
Option 2 ID : 6306801705795
Option 3 ID : 6306801705796
Option 4 ID : 6306801705794
Status : Answered
Chosen Option : B
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Ans X A. Picture or texture fill
+ B. Background fill
X C. Solid fill
X D. Gradient fill

Q.15 Which of the following is NOT a type of background style that you can apply to a slide in MS-PowerPoint 20107

Question ID : 630680436970
Option 1 ID : 6306801705808
Option 2 ID : 6306801705806
Option 3 ID : 6306801705805
Option 4 ID : 6306801705807
Status : Answered
Chosen Option: C
Q16 Tn IoT, a/an is a device that converts energy into motion.
Ans X A. router
X B. gateway
+ C. actuator
X D. sensor
Question ID : 630680436979
Option 1 ID : 6306801705842
Option 2 ID : 6306801705843
Option 3 ID : 6306801705844
Option 4 ID : 6306801705841
Status : Not Answered
Chosen Option : --
Q.17 Which of the following determines the clarity and sharpness of a computer screen image?
Ans X A View option
+ B. Resolution
X ¢. Low fidelity
X D. High fidelity
Question ID : 630680436962
Option 1 ID : 6306801705776
Option 2 ID : 6306801705775
Option 3 ID : 6306801705773
Option 4 ID : 6306801705774
Status : Answered
Chosen Option : B
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Q.18  Almost every computer comes with a small amount of ROM containing
Ans X A freeware
+ B. boot firmware

X C. utility software

X D. shareware

Question ID : 630680436941
Option 1 ID : 6306801705689
Option 2 ID : 6306801705692
Option 3 ID : 6306801705691
Option 4 ID : 6306801705690
Status : Not Answered
Chosen Option : --

Q.19 The evolution of IOT started with the first connected network called

Ans A ARPANET

X B. TCP

X C IoT

X D. SMTP
Question ID : 630680436976
Option 1 ID : 6306801705829
Option 2 ID : 6306801705830
Option 3 ID : 6306801705832
Option 4 ID : 6306801705831

Status : Answered
Chosen Option : A
Q.20 The 'Compare' function can be selected from the tab in MS-PowerPoint 2010.

Ans A Review
X B. Slide Show
X C. Animations
& D. Format

Question ID : 630680436973
Option 11D : 6306801705818
Option 2 ID : 6306801705819
Option 3 ID : 6306801705820
Option 4 ID : 6306801705817
Status : Answered
Chosen Option : A
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Q.21

Ans

is the process of arranging data in a definite sequence based on a criterion or criteria in MS-Excel 2010.

X A. Saving

X B. Sequencing
« C. Sorting

X D. Filtering

Question ID : 630680436955
Option 1 1D : 6306801705748
Option 2 ID : 6306801705747
Option 3 ID : 6306801705745
Option 4 ID : 6306801705746
Status : Answered
Chosen Option: C
Q22 1 MS-Word 2010, means making changes to your text.
Ans X A selecting
X B. transferring
X C. copying
+ D. editing
Question ID : 630680436951
Option 1 1D : 6306801705729
Option 2 ID : 6306801705732
Option 3 ID : 6306801705730
Option 4 1D : 6306801705731
Status : Answered
Chosen Option : D
Q23 The Windows operating system was developed by
Ans X A Google
+ B. Microsoft
X C. Apple
X D. Windows
Question ID : 630680436942
Option 1 1D : 6306801705695
Option 2 ID : 6306801705696
Option 3 ID : 6306801705693
Option 4 ID : 6306801705694
Status : Answered
Chosen Option : B
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Q.24 Foer #r RfeEw (diligence) Rravwar amat F=t ar aorETst F wAES HR wE@ear
(accuracy) 3 WY FTF HT &THST FT TSI FaT gl

Ans XA a1f (speed)
X B. =0T (willingness)
« C. FIFST (consistency)
X D. 8THAT (capacity)

Question ID : 630680436938
Option 11D : 6306801705680
Option 2 ID : 6306801705677
Option 3 1D : 6306801705679
Option 4 ID : 6306801705678
Status : Answered
Chosen Option : C

Q.25 In 10T, a/an is a device that detects or measures a specific physical quantity
and converts it into another form, usually electrical pulses.

Ans X A router

" B. sensor

X C. gateway

/< D. actuator

Question ID : 630680436978
Option 1 ID : 6306801705840
Option 2 1D : 6306801705837
Option 3 1D : 6306801705839
Option 4 ID : 6306801705838
Status : Not Answered
Chosen Option : --

Q.26 Which of the following is the hardware in a computing device where the operating system, application

programs and data in current use are kept so they can be quickly reached by the device's processor?
Ans « A. RAM
X B. Flash drive
X C. CD-ROM
X D. Hard disk

Question ID : 630680436936
Option 11D : 6306801705669
Option 2 ID : 6306801705671
Option 3 ID : 6306801705670
Option 4 ID : 6306801705672
Status : Answered
Chosen Option : B
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Q27 1n MS-Word 2010, what is the text that appears above the normal line called?

Ans X A Subscript
X B. Formatting
X c. Footing
+ D. Superscript

Question ID : 630680436952
Option 1 ID : 6306801705733
Option 2 ID : 6306801705735
Option 3 ID : 6306801705736
Option 4 ID : 6306801705734
Status : Answered
Chosen Option : D

Q.28 is a string of characters or numbers automatically generated to be used for one single login attempt.

Ans X A. Unified Payments Interface (UPI)
+ B. One-Time Password (OTP)
X C. Google Pay (GPAY)

X D. Bharat Interface for Money (BHIM)

Question ID : 630680436981
Option 1 ID : 6306801705852
Option 2 ID : 6306801705850
Option 3 ID : 6306801705849
Option 4 ID : 6306801705851
Status : Answered
Chosen Option : B

Q.29

» —

In MS-Word 2010, |[*—| represents:

Ans X' A characters

X B. shading

& C. numbers
« D. bullets

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680436948
6306801705718
6306801705720
6306801705717
6306801705719
Answered

D
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Q.30 Which of the following refers to learning with the aid of technology that enables people to learn anytime or anywhere?

Ans X A. E-banking
« B. E-learning

X C. E-commerce
# D. Email

Question ID : 630680436945
Option 1 ID : 6306801705708
Option 2 ID : 6306801705705
Option 3 ID : 6306801705707
Option 4 ID : 6306801705706
Status : Answered
Chosen Option : B

Q.31 Which of the following is NOT a valid colour setting option under File — Print in MS-PowerPoint 20107
Ans X A. Pure black and white

X B. Color

X C. Grayscale

« D. Multiplex color

Question ID : 630680436935
Option 1 ID : 6306801705668
Option 2 ID : 6306801705665
Option 3 ID : 6306801705666
Option 4 ID : 6306801705667
Status : Not Answered
Chosen Option : --

Q32 The WinZip software is an example of software.
Ans X A device driver
+ B. shareware

X C. programming

& D. Qpen source

Question ID : 630680436940
Option 1 ID : 6306801705687
Option 2 ID : 6306801705686
Option 3 ID : 6306801705685
Option 4 ID : 6306801705688
Status : Not Answered
Chosen Option : --
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Q.33 wWhat is the result of *=2+2/2%2" in MS-Excel 2010?
Ans A g
XB 6
#C 4
XD. 2

Question ID : 630680436959
Option 1 ID : 6306801705764
Option 2 ID : 6306801705763
Option 3 ID : 6306801705762
Option 4 ID : 6306801705761
Status : Answered
Chosen Option: C

Q.34 Which of the following options is a blend of multiple colours in MS-PowerPoint 2010?
Ans X A Solid fill

X B. Picture or texture fill

« C. Gradient fill

A D. Auto fill

Question ID : 630680436971
Option 1 ID : 6306801705809
Option 2 ID : 6306801705812
Option 3 ID : 6306801705811
Option 4 ID : 6306801705810
Status : Not Answered
Chosen Option : --

Q.35 The "Wipe’ effect in MS-PowerPoint 2010 can be applied to a slide from the tab.
Ans & A Transitions

X B. Design

X C. Review

# D. Animations

Question ID : 630680436972
Option 1 ID : 6306801705816
Option 2 ID : 6306801705814
Option 3 ID : 6306801705813
Option 4 ID : 6306801705815
Status : Marked For Review
Chosen Option : A
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Q.36 Which of the following option is NOT valid when forwarding email messages in Gmail?
Ans & A Forward to all

X B. Reply

X C. Replytoall

& D. Forward

Question ID : 630680436975
Option 1 ID : 6306801705828
Option 2 ID : 6306801705825
Option 3 ID : 6306801705826
Option 4 ID : 6306801705827
Status : Marked For Review
Chosen Option: C

Q.37 Which of the following options is used to turn off the AutoFit option that automatically adjusts the column width of a
table in MS-Word 20107

Ans X A AutoFit Contents
X B. AutoFit Window
+ C. Fixed Column Width

# D. Fixed Selection Pane

Question ID : 630680436950
Option 1 ID : 6306801705726
Option 2 ID : 6306801705728
Option 3 ID : 6306801705727
Option 4 ID : 6306801705725
Status : Not Answered
Chosen Option : --

Q.38 Which of the following features is used if you want a table's cells to automatically expand to fit the text inside them in
MS-Word 20107

Ans X A. Table size
X B. AutoFormat
+ C. AutoFit
X D. Table content

Question ID : 630680436964
Option 1 ID : 6306801705781
Option 2 ID : 6306801705782
Option 3 ID : 6306801705784
Option 4 ID : 6306801705783
Status : Marked For Review
Chosen Option : D
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Q39 By default, the
Ans X A Insert

tab is selected when vou open MS-PowerPoint 2010.

X B. Design

X C. Animations

+ D. Home
Question ID : 630680436969
Option 1 ID : 6306801705802
Option 2 ID : 6306801705803
Option 3 ID : 6306801705804
Option 4 ID : 6306801705801

Status : Answered
Chosen Option : D
Q.40 A/An is a software that controls the system’s hardware and interacts with the user and application software.

Ans X A booting
+ B. operating system
X C. utility

#< D. web browser

Question ID : 630680436961
Option 1 ID : 6306801705770
Option 2 ID : 6306801705769
Option 3 ID : 6306801705772
Option 4 ID : 6306801705771
Status : Answered
Chosen Option : B

Q.41 Which of the following buttons on a mouse is/are typically used to provide additional information and/or properties of
an item selected?

i. Right

ii. Left

iii. Seroll

Ans X A Bothiand ii

X B. Only ii

X c. Only iii

«D. Only i
Question ID : 630680436937
Option 1 ID : 6306801705676
Option 2 ID : 6306801705674
Option 3 ID : 6306801705675
Option 4 ID : 6306801705673

Status : Answered
Chosen Option : D
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Ans X A Qutline view
X B. Reading view
X C. slide Sorter view

« D. Normal view

Q.42 Which of the following views is the default view in MS-PowerPoint 2010?

Question ID : 630680436968
Option 11D : 6306801705798
Option 2 1D : 6306801705800
Option 3 ID : 6306801705799
Option 4 ID : 6306801705797
Status : Answered
Chosen Option : D
Q43 Nfatch the columns.
LIST-1 LIST-2
I) Web browser A) .org
II) Domain name B) URL
IIT) Webpage C) Mosaic
IV) Webpage address | D) A single hypertext document
Ans A I)—C),II)—A), III) - D), V) —B)
X B. I)=D), I) — A), IlT) — B), IV)) —C)
X c. )= C), I)—B), ) — D). IV) —Ad
X 0. )=D), I)—B), II)—A), IV)-C)
Question ID : 630680436934
Option 11D : 6306801705663
Option 2 1D : 6306801705664
Option 3 ID : 6306801705662
Option 4 1D : 6306801705661
Status : Answered
Chosen Option : A
Q.44 Which of the following is a Unix-like, open source and community-developed operating system (OS) for computers?
Ans o A Linux
X B. Android
X C. Windows
X D. Mac OS
Question ID : 630680436974
Option 11D : 6306801705822
Option 2 1D : 6306801705823
Option 3 ID : 6306801705821
Option 4 1D : 6306801705824
Status : Answered
Chosen Option : A
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Q45 YWhat is the full form of M2M?
Ans X' A. Mechanism to Machine
+ B. Machine to Machine
X ¢. Multiple to Multiple

X D. Machine to Multiple

Question ID

Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

1 630680436977
6306801705836
6306801705835
6306801705834
6306801705833
Marked For Review
B

Q46 wWhat is the full form of UPI?

Ans XA Unified Permanent Interface

X B. Unified Payments Internet
« C. Unified Payments Interface

X D. Universal Payments Interface

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680436980
6306801705845
6306801705846
6306801705847
6306801705848
Answered

C

Ans X A Ctrl + Shift + K
X B. Ctrl + Shift+ C
« C. Ctrl + Shift + L
X D. Ctrl + Shift + M

Q.47  Which of the following keyboard shorteuts is used to apply a filter in MS-Excel 20107

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680436954
6306801705743
6306801705742
6306801705741
6306801705744
Answered

(o]
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Q.48

Ans X A Resistive
+ B. Gas Plasma
X C. Surface Acoustic Wave
X D. Capacitive

Which of the following is NOT a type of touchscreen monitor?

Question ID : 630680436933
Option 11D : 6306801705658
Option 2 ID : 6306801705660
Option 3 ID : 6306801705659
Option 4 ID : 6306801705657
Status : Not Answered
Chosen Option : --
Q.49 The speed at which an instruction is executed is related directly to a computer’s built-in .
Ans & A clock speed
X B. execution speed
X C. spin rate
X D. latency speed
Question ID : 630680436960
Option 1 ID : 6306801705767
Option 2 ID : 6306801705768
Option 3 ID : 6306801705765
Option 4 ID : 6306801705766
Status : Answered
Chosen Option : B
@50 wWhich of the following is used as a text function in MS-Excel 20107
Ans X A Ceiling( )
+ B. Trim( )
X c. Rate( )
X D. Date( )
Question ID : 630680436958
Option 1 ID : 6306801705759
Option 2 ID : 6306801705760
Option 3 ID : 6306801705758
Option 4 ID : 6306801705757
Status : Answered
Chosen Option : B

Section : General Study & Logical Reasoning
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Q.1 The WTO's 12th Ministerial Conference (MC12) took place from 12 to 17 June 2022 at WTO headquarters in which of
the following places?

Ans X A. Melbourne
X B. Paris
«” C. Geneva
< D. New York

Question ID : 630680436988
Option 1 ID : 6306801705877
Option 2 ID : 6306801705878
Option 3 ID : 6306801705879
Option 4 ID : 6306801705880
Status : Answered
Chosen Option: C

Q2 The Autobiography of an Unknown Indian was written by

Ans X' A Amitav Ghosh
X B. Aravind Adiga

X ¢. Arundhati Roy
+ D. Nirad C. Chaudhuri

Question ID : 630680436985
Option 1 ID : 6306801705868
Option 2 ID : 6306801705866
Option 3 ID : 6306801705865
Option 4 ID : 6306801705867
Status : Answered
Chosen Option : D

Q3 Who was the first Lieutenant Governor of Delhi?
Ans A Aditya Nath Jha

X B. Krishan Chand

X C. Baleshwar Prasad

X D. M.C. Pimputkar

Question ID : 630680436984
Option 1 ID : 6306801705864
Option 2 ID : 6306801705863
Option 3 ID : 6306801705862
Option 4 ID : 6306801705861
Status : Not Answered
Chosen Option : --
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Q.4 Pointing to a photograph, a boy Sanjay said, "He is the son of the only son of my mother’s father." How is Sanjay
related to that person in the photograph?

Ans X A. Son of paternal aunt
4 B. Son of Maternal uncle
X C. Son of maternal aunt

/< D. Paternal uncle

Question ID : 630680436996
Option 1 ID : 6306801705910
Option 2 ID : 6306801705911
Option 3 ID : 6306801705909
Option 4 ID : 6306801705912
Status : Answered
Chosen Option : B

Q5 YWhen was Tenzing Norgay National Adventure Award introduced?
Ans X A 1997

X B. 1995

X C. 1996

« D 1994

Question ID : 630680436989
Option 1 ID : 6306801705884
Option 2 ID : 6306801705882
Option 3 ID : 6306801705883
Option 4 ID : 6306801705881
Status : Not Answered
Chosen Option : --

Q.6 Infrastructure Leasing & Financial Services Limited is an Indian state-funded infrastructure development and finance
company that was established in which year?

Ans XA 1989
X B. 1988
X C. 1990
« D. 1987

Question ID : 630680436987
Option 1 ID : 6306801705875
Option 2 ID : 6306801705874
Option 3 ID : 6306801705876
Option 4 ID : 6306801705873
Status : Not Answered
Chosen Option : --
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Q.7 In the 2020 Bihar Legislative Assembly election which party got the maximum seats?
Ans & A Rashtriya Janata Dal

X B. Bharatiya Janata Party
X C. Janata Dal (United)
X D. Bahujan Samaj Party

Question ID : 630680436992
Option 1 ID : 6306801705893
Option 2 ID : 6306801705894
Option 3 ID : 6306801705895
Option 4 ID : 6306801705896
Status : Answered
Chosen Option : A

Q.8  Sselect the number from among the given options that can replace the question mark (?) in the following series.

653, 778, 842, 869, ?

Ans X A 004
B 877
X C. 887
X D. 907

Question ID : 630680437000
Option 1 ID : 6306801705926
Option 2 ID : 6306801705927
Option 3 ID : 6306801705925
Option 4 ID : 6306801705928
Status : Answered
Chosen Option : B

Q.9 Select the number from among the given options that can replace the question mark (?) in the following series.

625, 746, 846, 927, ?
Ans A Q9]
X B. 981
X C. 967
X D. 1007

Question ID : 630680437001
Option 1 ID : 6306801705932
Option 2 ID : 6306801705931
Option 3 ID : 6306801705930
Option 4 ID : 6306801705929
Status : Answered
Chosen Option : A
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Ans X' A Pune

Q.10 Gandhiji gave a call to Do or Die in his Quit India speech that he delivered in which of the following present cities?

X B. Calcutta
+ C. Mumbai
X D. Nagpur
Question ID : 630680436983
Option 1 ID : 6306801705860
Option 2 ID : 6306801705859
Option 3 ID : 6306801705857
Option 4 ID : 6306801705858
Status : Answered
Chosen Option: C
Q.11 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.
SOLDIER : IERDSOL :: ARMOURY : ?
Ans X A URYAORM
X B. UROYARM
X C. URYORAM
+ D. URYOARM
Question ID : 630680436997
Option 1 ID : 6306801705915
Option 2 ID : 6306801705916
Option 3 ID : 6306801705914
Option 4 ID : 6306801705913
Status : Answered
Chosen Option : D
Q.12 Ina certain code language, JACKAL is coded as KALJAC. How will ASYLUM be coded in that language?
Ans X A LUMSAY
X B. LUMAYS
+ C. LUMASY
X D. LUAMSY
Question ID : 630680436994
Option 1 ID : 6306801705902
Option 2 ID : 6306801705904
Option 3 ID : 6306801705903
Option 4 ID : 6306801705901
Status : Answered
Chosen Option : C
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Q13 Aditi Ashok is mainly known for which of the following sports?

Ans X A Tennis
X B. Athletics
X C. Table Tennis
+ D. Golf

Question ID : 630680436990
Option 1 ID : 6306801705887
Option 2 ID : 6306801705888
Option 3 ID : 6306801705885
Option 4 ID : 6306801705886
Status : Answered
Chosen Option: C

Q.14 Chakyar Koothu dance is mainly performed in which of the following states of India?
Ans X A Odisha

A B. Maharashtra

« C. Kerala

X D. Telangana

Question ID : 630680436986
Option 1 ID : 6306801705870
Option 2 ID : 6306801705871
Option 3 ID : 6306801705869
Option 4 ID : 6306801705872
Status : Not Answered
Chosen Option : --

Q.15 Which of the following article of the Indian constitution deals with Equality of opportunity in matters of public
employment?

Ans X A Article 11
+ B Article 16
X C. Article 4
X D. Article 21

Question ID : 630680436991

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801705890
6306801705889
6306801705891
6306801705892
Answered

B
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Q.16 Select the number from among the given options that can replace the question mark (?) in the following series.
67, 93, 130, 157, 7
Ans X A 204
« B. 195
X C. 187
X D. 205

Question ID : 630680436999
Option 1 ID : 6306801705924
Option 2 ID : 6306801705921
Option 3 ID : 6306801705922
Option 4 ID : 6306801705923
Status : Answered
Chosen Option : B

Q.17 Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

FFC, KDY. PXU. URQ. ?
Ans X A ZILN
B ZILM
X C AILM
X D. ZMM

Question ID : 630680436993
Option 1 ID : 6306801705900
Option 2 ID : 6306801705899
Option 3 ID : 6306801705898
Option 4 ID : 6306801705897
Status : Answered
Chosen Option : B

Q.18 Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the
one that is different.

Ans X A MQ-RV
+ B CG-HK
X C. SW-XB
X D. GK-LP

Question ID : 630680436998
Option 1 ID : 6306801705919
Option 2 ID : 6306801705918
Option 3 ID : 6306801705920
Option 4 ID : 6306801705917
Status : Answered
Chosen Option : B
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80+ 16—89+56x9=492
Ans XA = and =

Q.19 Which two signs should be interchanged to make the following equation correct?

+B. xand—

X C xand~+

A D. +and+
Question ID : 630680437002
Option 1 ID : 6306801705933
Option 2 ID : 6306801705934
Option 3 ID : 6306801705935
Option 4 ID : 6306801705936

Status : Answered
Chosen Option : B
Q.20 In a certain code language, CATTLE is coded as FMUUBD. How will JINGLE be coded in that language?
Ans X A. FMHOIK

« B. FMHOIK

X C. FMIOIK

X D. FMHOKK
Question ID : 630680436995
Option 1 ID : 6306801705907
Option 2 ID : 6306801705905
Option 3 ID : 6306801705908
Option 4 ID : 6306801705906

Status : Answered
Chosen Option : B

Section : General Hindi

! e G e ¥ femm T A= O Y-
9% 8T Ig T 3 |

v A T g
X B B

X C T
X D. HeheT gl

Ans

Question ID : 630680437008
Option 1 ID : 6306801705958
Option 2 ID : 6306801705960
Option 3 ID : 6306801705959
Option 4 ID : 6306801705957
Status : Answered
Chosen Option : A

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...  24/100



11/23/23, 2:32 PM

cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

« B.

Q2 e & ¥ i a9 FgegHen Fo @ e ¥ 3fRE I 82
Ans XA e @ IlET 9T SIS TR SieeY &9 S

HTRIT 3T9eX 4 715 gar afe e Fr afiem 917 g1

X c.

ZTFeT T & ToIT MM & AT &7 I 9 FIAT gl
X 0. HRT e FT 9iraT 9TF & odr ar ST a4 Jar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

630680437005
6306801705947
6306801705945
6306801705948
6306801705946
Answered

Chosen Option : D

a3 e # & forw A & RRIWOT ereg @ 3R AT g §7
Ans v A TS A U 9T TE W TF IS e g

X & Geleh H3 U T T W TS IS Fera g

X c. Jelis I Ul X T W TSH I G g

X 0. YdE FO e W Tg ¥ TH T Forch ¢

Question ID : 630680437009
Option 11D : 6306801705964
Option 2 ID : 6306801705963
Option 3 ID : 6306801705962
Option 4 ID : 6306801705961
Status : Answered
Chosen Option : A

“ B F Y T o
Ans KAW%
X B SR

v HemdaT
X 0. FHATH

Question ID : 630680437012

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801705974
6306801705973
6306801705975
6306801705976
Answered

C
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Q.5 : ¢
ﬁmﬁﬁﬁmmﬁmﬁ%ﬂmmﬁmwﬁ?
Ans
XA 3Hh T ¥ FoaA P 7mm|
X B. gg 3T I gSU9E ¥ el wier g
X wge ﬁma?‘r"rﬁrag?rquw%|
0. FH HYa USIHT 9T §SUT FgT FLAr TeCl
Question ID : 630680437007
Option 1 ID : 6306801705956
Option 2 ID : 6306801705953
Option 3 ID : 6306801705954
Option 4 ID : 6306801705955
Status : Answered
Chosen Option : D
Q6 g F ¥ P I aEeT af sy Fe fr e 9 R s
Ans L
X A 3T FHE TT: FT TYAA § HES T T g
X B 3TN el FTeT: Fel TGAT H HE$ AT TH gREM
v C. T el I A AGa § Hag S|
X 0. TR FHeT IId: Fiel IGAA & Hﬁé’a ST HaaT gl
Question ID : 630680437004
Option 1 ID : 6306801705942
Option 2 ID : 6306801705944
Option 3 ID : 6306801705943
Option 4 ID : 6306801705941
Status : Answered
Chosen Option : C
Q.7 . :
Y@Ifehd o8 & TOaE & ared qur &i-
TFET 9T g A T 80 & 91 T W
Ans X A FTSY
A B HFT
W C. AT
XD g:i?r
Question ID : 630680437011
Option 11D : 6306801705972
Option 2 ID : 6306801705970
Option 3 ID : 6306801705969
Option 4 ID : 6306801705971
Status : Answered
Chosen Option : C
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Ans X A

+ B.

X C.

X D.

Q8 S ¥ ¥ FAT AR THET TS FE & e § 3R e
fa-ta afts == arer o9 & oftew F e 2 w
fea-ta it =t arer o9 & 9ieT § g6 & a2
fea-tra ot == arer o9 & 9feT F 6o @ g
femr-wra afesm &3 arer o & 9leT F §6d @ I 2

Question ID : 630680437006
Option 1 ID : 6306801705950
Option 2 ID : 6306801705949
Option 3 ID : 6306801705952
Option 4 1D : 6306801705951
Status : Answered
Chosen Option : B
Q.9 * :
‘PRI 9T 9T I@AT TETE T et 87
A
" @A Tal T FH FLEAT
X B H{USAT 3T AT
X C. T ST FAT
XD Ty a‘ﬁl‘sqa‘ﬁ T
Question ID : 630680437010
Option 1 ID : 6306801705965
Option 2 ID : 6306801705966
Option 3 ID : 6306801705968
Option 4 ID : 6306801705967
Status : Answered
Chosen Option : A
Q.10
mﬁmﬁﬁﬁaﬁmﬂmm:
Ans + :
XA FIE 3UER FE § A9 A I JFE &
KB T U & AT T FT IIER AL ¢
v o A IE FFE & I FIS 3UER ¢ ¢
X 0. JFE &t AT 3UER FET § AL IH FE
Question ID : 630680437003
Option 1 ID : 6306801705937
Option 2 ID : 6306801705940
Option 3 ID : 6306801705938
Option 4 ID : 6306801705939
Status : Answered
Chosen Option : C
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Comprehension:

T F 3ca? U AT eI F IUR 9T ST

I 1914 # ugen fvaug e wsn sWA R AR
fyea, ww, oo, T # s O, Ay wwde o
A & A8 3 Fen, v gl v SEEn, afEear
#erd 3T gHF ) e A dewAn fee wET s
Togardr ATH F WHERX & IE TAH H FEEET #:
o Rhan o7 R 2@ seig gmom 97 amaia
o & Faw g R o T TEEd F TER
N R AR WA $T HT TF T TAT e
# gAY ghm sl 5 A @ 9 S S gEer

% e fnage #1 Rfees affqar s= st &
Tfee ma & for & &3 @ of| e @ &%

ITATEF HFR FEr 9N T 9% 5 3HF FI AT

& gad F ST U] SHIAU Us aiEdides st
STH-HTE HEEE T L & FWOT ARA & e

T T TERI I AR F§| 39 T Igf 1 AT
o & F AN A AR TFAT HT FWET F TR
A BTl 1916-17 2 Fewe AFN A FAEAT g
A TH F AT deAg oee o, 3 gE AEdar
U Gt TH. gEHT T F Aqgeed H o1 54
AT A AT TEAET F W w A @ AT H q=id
o & g & @ 9g & gaee 1 = e
ST| I & $H el H il HTered o1 81 faera
§HT| FMEFAE TSH T AR ARG F A P
el Hd d& el AT ARG HT FamEr A aw@
AR It o 1913 3 72T Té Hr wuraar f)
sus MO derw 9o ¥ A e sk s
e o S g AU Fr Femer F v F ik S
T8 Gol FEeN 3T 1w HeHTT F WHAT FLAT I3 AT

SubQuestion No : 11

Q1 Tﬁﬁ'@&ﬂﬁﬁmﬁ%%
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Ane FITTHIT TUT HTeerarar Feaar o e & oy

7" gt & wry e 3@ ReE 72 @

X B.

suH fRagg & “NAT J9dT F TEE F TS A g o
) cer Fr Faar A THmEa & 9y g ot

| AT A 3eqe #r ST @ o
X D.
ga#mmmmﬁg@ﬁﬁﬁﬁﬁﬂ'ﬁmmmaﬁm

x

Question ID : 630680437018
Option 11D : 6306801705996
Option 2 ID : 6306801705993
Option 3 ID : 6306801705995
Option 4 ID : 6306801705994
Status : Answered
Chosen Option : D
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Comprehension:

T F 3ca? U AT ;T F FUR 9T AT

I 1914 # ugen fvaug e wsn sWA R AR
fyea, ww, oo, T # s O, Ay wwde o
A & A8 3 Fen, v gl v SEEn, afEear
#erd 3T gHF ) e A dewAn fee wET s
Togardr ATH F WHERX & & FTAH H FEEET #:
o Rhan o7 R 2@ seig gmom 97 amaia
o1 & Faa g R #Ra T TEEH FO[EER
N R AR WA $T HT TF T TAT e
# gAY g sl 59 A @ 9 S wEer

% e fnage #1 Rfees affqar s= st &
e ma & o & &3 @ of e @ &%

ITATEF HFR FEr 9N T 9% 5 3HF FI AT

H gard # ST AVl SHAUT U diEdideh Tslallice
STH-HTE HEEE T L & FWOT ARA & e

T T TERI I AR F§| 39 T I 1 AT
o & F AN A AR TFAT HT FWET F TR
| FeAT| 1916-17 & ga%er wiell H e g$l
A TH F AT deAg oee o, 3 gE AEdar
Ul aHeI TH. GEaHeT T F Aqgeed H o1 54
AT A AT TEAET F W w A @ AT H q=id
far & g2 & @ 9a = e a1 FEuwa e
ST| I & $H el H il HTered o1 81 faera
FHT| AT FoIea Foe AT MERTE F I QY
el Hd d& el AT ARG HT FamEr A aw@
SR it 7 1913 3 7eT Téf Hr wuraar f
sus MO derw 9o ¥ A e sk s
Yo o S gt VS-0E Fr Fener F v & i T
T8 Gol FEeN 3T 1w HeHTT F WHAT FLAT I3 AT

SubQuestion No : 12
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V2 s & AT Oew TRT oRT F TSIy
Aardt F s i feage 7 wEgar == & o
T FifE?

Ans Aaa*mnaﬁﬁ:ﬁGTw.Qﬁ@duﬁ‘éﬂﬁ
V" e v #T &
x 5 9% Bea & gWTEE & F9 3aRaT 9ed o

X c. gg fea & HerIar s TEa
K_Daggaﬁﬂmﬂwgaﬁﬁ:ﬁﬁmmﬂ
T ARSI AT e

Question ID : 630680437016
Option 11D : 6306801705988
Option 2 ID : 6306801705986
Option 3 ID : 6306801705985
Option 4 ID : 6306801705987
Status : Answered
Chosen Option : A
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Comprehension:

T F 3ca? U AT eI F IUR 9T ST

I 1914 # ugen fvaug e wsn sWA R AR
fyea, ww, oo, T # s O, Ay wwde o
A & A8 3 Fen, v gl v SEEn, afEear
#erd 3T gHF ) e A dewAn fee wET s
Togardr ATH F WHERX & IE TAH H FEEET #:
o Rhan o7 R 2@ seig gmom 97 amaia
o & Faw g R o T TEEd F TER
N R AR WA $T HT TF T TAT e
# gAY ghm sl 5 A @ 9 S S gEer

% e fnage #1 Rfees affqar s= st &
Tfee ma & for & &3 @ of| e @ &%

ITATEF HFR FEr 9N T 9% 5 3HF FI AT

& gad F ST U] SHIAU Us aiEdides st
STH-HTE HEEE T L & FWOT ARA & e

T T TERI I AR F§| 39 T Igf 1 AT
o & F AN A AR TFAT HT FWET F TR
A BTl 1916-17 2 Fewe AFN A FAEAT g
A TH F AT deAg oee o, 3 gE AEdar
U Gt TH. gEHT T F Aqgeed H o1 54
AT A AT TEAET F W w A @ AT H q=id
o & g & @ 9g & gaee 1 = e
ST| I & $H el H il HTered o1 81 faera
§HT| FMEFAE TSH T AR ARG F A P
el Hd d& el AT ARG HT FamEr A aw@
AR It o 1913 3 72T Té Hr wuraar f)
sus MO derw 9o ¥ A e sk s
e o S g AU Fr Femer F v F ik S
T8 Gol FEeN 3T 1w HeHTT F WHAT FLAT I3 AT

SubQuestion No : 13

O Awer T ST W 3T O
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Ans - ) :
XA ST B FIaRLr e & o 39T w3

xsﬂmé:ﬁvma&wmwmgam

o C.
Is & gETd TETHA I 9Iicd & o0 FFar &1 AR F:IAT]

X 0. AT B I H B Fr wEar & e swan

Question ID : 630680437017
Option 11D : 6306801705992
Option 2 ID : 6306801705989
Option 3 ID : 6306801705991
Option 4 ID : 6306801705990
Status : Answered
Chosen Option : C
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Comprehension:

T F 3ca? U AT eI F IUR 9T ST

I 1914 # ugen fvaug e wsn sWA R AR
fyea, ww, oo, T # s O, Ay wwde o
A & A8 3 Fen, v gl v SEEn, afEear
#erd 3T gHF ) e A dewAn fee wET s
Togardr ATH F WHERX & IE TAH H FEEET #:
o Rhan o7 R 2@ seig gmom 97 amaia
o & Faw g R o T TEEd F TER
N R AR WA $T HT TF T TAT e
# gAY ghm sl 5 A @ 9 S S gEer

% e fnage #1 Rfees affqar s= st &
Tfee ma & for & &3 @ of| e @ &%

ITATEF HFR FEr 9N T 9% 5 3HF FI AT

& gad F ST U] SHIAU Us aiEdides st
STH-HTE HEEE T L & FWOT ARA & e

T T TERI I AR F§| 39 T Igf 1 AT
o & F AN A AR TFAT HT FWET F TR
A BTl 1916-17 2 Fewe AFN A FAEAT g
A TH F AT deAg oee o, 3 gE AEdar
U Gt TH. gEHT T F Aqgeed H o1 54
AT A AT TEAET F W w A @ AT H q=id
o & g & @ 9g & gaee 1 = e
ST| I & $H el H il HTered o1 81 faera
§HT| FMEFAE TSH T AR ARG F A P
el Hd d& el AT ARG HT FamEr A aw@
AR It o 1913 3 72T Té Hr wuraar f)
sus MO derw 9o ¥ A e sk s
e o S g AU Fr Femer F v F ik S
T8 Gol FEeN 3T 1w HeHTT F WHAT FLAT I3 AT

SubQuestion No : 14

O O & O B o=er F 3 IUW SIS 3T el Fear 87

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...  34/100



11/23/23, 2:32 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

Ans X A TETT AT HTETH
v B FTEdiEes J9T AT
X C. NEegd 9T IIEdiae
X 0. Ig TUT WEAT

Question ID : 630680437015
Option 11D : 6306801705982
Option 2 1D : 6306801705981
Option 3 1D : 6306801705984
Option 4 1D : 6306801705983
Status : Answered
Chosen Option : B
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Comprehension:

T F 3ca? U AT ;T F FUR 9T AT

I 1914 # ugen fvaug e wsn sWA R AR
fyea, ww, oo, T # s O, Ay wwde o
A & A8 3 Fen, v gl v SEEn, afEear
#erd 3T gHF ) e A dewAn fee wET s
Togardr ATH F WHERX & IE TAH H FEEET #:
o Rhan o7 R 2@ seig gmom 97 amaia
o T Faa g R o T TEEH F [TER
N R AR WA $T HT TF T TAT e
# gAY ghm sl 5 A @ 9 S S gEer

% e fnage #1 Rfees affqar s= st &
e ma & o & &3 @ of e @ &%

ITATEF HFR FEr 9N T 9% 5 3HF FI AT

& gad F ST U] SHIAU Us aiEdides st
STH-HTE HEEE T L & FWOT ARA & e

T T TERI I AR F§| 3 T Igf 1 AT
o & F AN A AR TFAT HT FWET F TR
A BTl 1916-17 2 Fewe AFN A FAEAT g
A TH F AT deAg oee o, 3 gE AEdar
U aHeIt TH. GEHeT T F Aqgeed H o1 54
AT A AT TEAET F W w A @ AT H q=id
o & g & @ 9g & gaee 1 = e
ST| I & $H el H il HTered o1 81 faera
§HT| IMEFAE TS T AT ARG F FF P
el Hd d& el AT ARG HT FamEr A aw@
AR It o 1913 3 72T Té Hr wuraar f)
sus MO derw 9o ¥ A e sk s
e o S g -0 Fr gemer F aw F Ak e
T8 Gol FEeN 3T 1w HeHTT F WHAT FLAT I3 AT

SubQuestion No : 15
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Q.15 : ¢

vun foeg g2 7 o 7 & Fla-mr ¢ o

AT ATHT TS F Y Tk HAG H Agl AT?
ne XA Rres

v 5 TH

P
X C. A
X 0. g

Question ID : 630680437014
Option 1 ID : 6306801705977
Option 2 ID : 6306801705980
Option 3 ID : 6306801705979
Option 4 ID : 6306801705978
Status : Answered
Chosen Option: C

Section : General English

Q.1 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the
error from the given options. If you don’t find any error, mark ‘No error” as your answer.

Where do you go / for your / next vacation?

Ans

X A. for your

# B. next vacation
X C. No error

« D. Where do you go

Question ID : 630680437022
Option 11D : 6306801706010
Option 2 ID : 6306801706011
Option 3 ID : 6306801706012
Option 4 ID : 6306801706009
Status : Answered
Chosen Option : A

Q.2 Select the most appropriate synonym of the word given in brackets to fill in the blank.

The children (ventured) to go out into the woods that morning.

Ans A dared

X B. designed
X C. neglected
X D. protected

Question ID : 630680437025
Option 1 ID : 6306801706023
Option 2 ID : 6306801706024
Option 3 ID : 6306801706021
Option 4 ID : 6306801706022
Status : Answered
Chosen Option : A

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...  37/100



11/23/23, 2:32 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

Q3 Select the most appropriate option to fill in the blank.

Hamid requested the shopkeeper him the tongs for three paise.
Ans X A sells

« B. to sell
X C. gell

X D. selling

Question ID : 630680437020
Option 1 ID : 6306801706002
Option 2 ID : 6306801706004
Option 3 ID : 6306801706001
Option 4 ID : 6306801706003
Status : Not Answered
Chosen Option : --

Q.4 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the

error from the given options. If you don’t find any error, mark ‘No error” as your answer.

Every day my grandmother / taking a nap / in the afternoon.

Ans

+ A taking a nap
X B. No error
X c. Every day my grandmother

X D. in the afternoon

Question ID : 630680437021
Option 1 ID : 6306801706006
Option 2 ID : 6306801706008
Option 3 ID : 6306801706005
Option 4 ID : 6306801706007
Status : Answered
Chosen Option : A

Q.5 Select the most appropriate ANTONYM of the word given in brackets to fill in the blank.

They visit their village home quite (scarcely), at least three times in a year.

Ans X A zeldom

+ B. frequently
X C. slightly
X D. hardly

Question ID : 630680437024
Option 1 ID : 6306801706019
Option 2 ID : 6306801706018
Option 3 ID : 6306801706020
Option 4 ID : 6306801706017
Status : Answered
Chosen Option : A
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Q6 Select the most appropriate option to fill in the blank.

The little boy escaped  the burning hut.
Ans X A for

X B. of

+ C. from

X D. with

Question ID : 630680437019
Option 1 ID : 6306801705998
Option 2 ID : 6306801705997
Option 3 ID : 6306801705999
Option 4 ID : 6306801706000
Status : Answered
Chosen Option : B

Q7 Select the sentence with the grammatically correct verb form.
Ans X A. She have her laptop repaired last week.
X B. She had have her laptop repaired last week.
+ C. She had her laptop repaired last week.
X D. She is having her laptop repaired last week.
Question ID : 630680437023
Option 1 ID : 6306801706013
Option 2 ID : 6306801706015
Option 3 ID : 6306801706014
Option 4 ID : 6306801706016
Status : Answered
Chosen Option: C
Q8 Select the most appropriate meaning of the given idiom.
Run around in circles
Ans

X A Do something for the first time

X B. Do things in the cheapest way

X ¢. Doing something that cannot be reverted
+ D. Do things without achieving anything

Question ID : 630680437027
Option 1 ID : 6306801706029
Option 2 ID : 6306801706031
Option 3 ID : 6306801706032
Option 4 ID : 6306801706030
Status : Answered
Chosen Option : D
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Q.9  Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful
sentence.

A. There have been no reports

B. that the low-intensity

C. to buildings or roadways

D. earthquake caused any damage

Ans X A. ABCD
X 8. ADCB
X C. ACBD
« D. ABDC

Question ID : 630680437028
Option 1 ID : 6306801706035
Option 2 ID : 6306801706033
Option 3 ID : 6306801706034
Option 4 ID : 6306801706036
Status : Answered
Chosen Option : D

Q.10 Select the option that can substitute the underlined word in the given proverb correctly. If no substitution is required,
select ‘No substitution required’.

God helps those who help others.
Ans X A the disadvantaged
X B. No substitution required

X C. the sick
« D. themselves

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437026
6306801706026
6306801706028
6306801706027
6306801706025
Answered

D
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Comprehension:
Read the given passage and answer the questions that follow.

The Indian Railways will construct 1,000 kilometres of boundary
barriers over the course of the next six months in areas of its network,
with the majority of animals being run over by trains. According to
government statistics, 200 trains were affected by cattle run overs in
the first nine days of October. As many as 4,000 trains have been
affected so far this vear. Recently. the problem has been worse for the
Mumbai-Gandhinagar Vande Bharat train, which was launched on 1
Octaber, this year. The nose of the train sustained damage owing to
three cattle run overs in the first nine days of the month.

The Railway minister Ashwini Vaishnav stated that conventional

boundary walls will not be able to solve the problem of cattle run over
but will end up affecting villagers around the area. The minister,

however, did not give any information on the material that will be
used for building the boundary walls to make them sturdy enough to
keep the cattle away from railway tracks and protect them from hwman
intervention. Cattle run overs can cause serious damage to trains,
derailment and delay them.

According to information accessed by PTI, with more than 6,500 of
the 26.000 cattle run cases in 2020-21, North Central Railway is one
of the worst affected zones. It covers 3,000 km of tracks and hosts
parts of the Delhi-Howrah corridor which is the gateway for trains

from the east to reach the northern parts of India.

The Northern Railways zone recorded the highest number of cattle
run-over cases — nearly 6,800 — across divisions of Moradabad and
Lucknow in Uttar Pradesh, Firozpur in Punjab, Ambala in Haryana,
and Delhi in 2022, officials said.

The stretches identified for building boundary walls include sections
in North Central Railways — in the Jhansi Division, and Prayagraj
Division. In the Northern Railways the sections identified are in

Moradabad Division and in Lucknow Division.

SubQuestion No : 11

QM Which question CANNOT be answered after reading the passage?

Ans A
What material is going to be used for making the boundary wall?

X B.
How many total cases of cattle run-overs were recorded in 2020-217

X cC.
How many kilometres wall is proposed to be made by the railways?

X D.
When was Mumbai-Gandhinagar Vande Bharat train launched?

Question ID : 630680437033
Option 11D : 6306801706052
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Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706051
6306801706049
6306801706050
Answered

A
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Comprehension:

Read the given passage and answer the questions that follow.

The Indian Railways will construct 1,000 kilometres of boundary
barriers over the course of the next six months in areas of its network,
with the majority of animals being run over by trains. According to
government statistics, 200 trains were affected by cattle run overs in
the first nine days of October. As many as 4,000 trains have been
affected so far this vear. Recently. the problem has been worse for the
Mumbai-Gandhinagar Vande Bharat train, which was launched on 1
Octaber, this year. The nose of the train sustained damage owing to
three cattle run overs in the first nine days of the month.

The Railway minister Ashwini Vaishnav stated that conventional

boundary walls will not be able to solve the problem of cattle run over
but will end up affecting villagers around the area. The minister,

however, did not give any information on the material that will be
used for building the boundary walls to make them sturdy enough to
keep the cattle away from railway tracks and protect them from hwman
intervention. Cattle run overs can cause serious damage to trains,
derailment and delay them.

According to information accessed by PTI, with more than 6,500 of
the 26.000 cattle run cases in 2020-21, North Central Railway is one
of the worst affected zones. It covers 3,000 km of tracks and hosts
parts of the Delhi-Howrah corridor which is the gateway for trains

from the east to reach the northern parts of India.

The Northern Railways zone recorded the highest number of cattle
run-over cases — nearly 6,800 — across divisions of Moradabad and
Lucknow in Uttar Pradesh, Firozpur in Punjab, Ambala in Haryana,
and Delhi in 2022, officials said.

The stretches identified for building boundary walls include sections
in North Central Railways — in the Jhansi Division, and Prayagraj
Division. In the Northern Railways the sections identified are in

Moradabad Division and in Lucknow Division.

SubQuestion No : 12

Q12 The passage is mainly about:
Ans A building boundary walls along the rail track
X B. ftrains getting delayed due to cattle hit

X C. ftrains getting damaged by the cattle

X D. cattle hitting the trains

Question ID : 630680437030

Option 1 ID : 6306801706039
Option 2 ID : 6306801706038
Option 3 ID : 6306801706040
Option 4 ID : 6306801706037
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Status : Answered
Chosen Option : A
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Comprehension:
Read the given passage and answer the questions that follow.

The Indian Railways will construct 1,000 kilometres of boundary
barriers over the course of the next six months in areas of its network,
with the majority of animals being run over by trains. According to
government statistics, 200 trains were affected by cattle run overs in
the first nine days of October. As many as 4,000 trains have been
affected so far this vear. Recently. the problem has been worse for the
Mumbai-Gandhinagar Vande Bharat train, which was launched on 1
Octaber, this year. The nose of the train sustained damage owing to
three cattle run overs in the first nine days of the month.

The Railway minister Ashwini Vaishnav stated that conventional

boundary walls will not be able to solve the problem of cattle run over
but will end up affecting villagers around the area. The minister,

however, did not give any information on the material that will be
used for building the boundary walls to make them sturdy enough to
keep the cattle away from railway tracks and protect them from hwman
intervention. Cattle run overs can cause serious damage to trains,
derailment and delay them.

According to information accessed by PTI, with more than 6,500 of
the 26.000 cattle run cases in 2020-21, North Central Railway is one
of the worst affected zones. It covers 3,000 km of tracks and hosts
parts of the Delhi-Howrah corridor which is the gateway for trains

from the east to reach the northern parts of India.

The Northern Railways zone recorded the highest number of cattle
run-over cases — nearly 6,800 — across divisions of Moradabad and
Lucknow in Uttar Pradesh, Firozpur in Punjab, Ambala in Haryana,
and Delhi in 2022, officials said.

The stretches identified for building boundary walls include sections
in North Central Railways — in the Jhansi Division, and Prayagraj
Division. In the Northern Railways the sections identified are in

Moradabad Division and in Lucknow Division.

SubQuestion No : 13

Q13 How many cases of cattle hit were recorded for the Northern railway in 2022?

Ans X A 26,000 cases
X B. 3,000 cases
« C. 6,800 cases
X D. 6,500 cases

Question ID : 630680437032
Option 11D : 6306801706045
Option 2 ID : 6306801706048
Option 3 1D : 6306801706046
Option 4 ID : 6306801706047
Status : Answered
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l Chosen Option: C I |
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Comprehension:

Read the given passage and answer the questions that follow.

The Indian Railways will construct 1,000 kilometres of boundary
barriers over the course of the next six months in areas of its network,
with the majority of animals being run over by trains. According to
government statistics, 200 trains were affected by cattle run overs in
the first nine days of October. As many as 4,000 trains have been
affected so far this vear. Recently. the problem has been worse for the
Mumbai-Gandhinagar Vande Bharat train, which was launched on 1
Octaber, this year. The nose of the train sustained damage owing to
three cattle run overs in the first nine days of the month.

The Railway minister Ashwini Vaishnav stated that conventional

boundary walls will not be able to solve the problem of cattle run over
but will end up affecting villagers around the area. The minister,

however, did not give any information on the material that will be
used for building the boundary walls to make them sturdy enough to
keep the cattle away from railway tracks and protect them from hwman
intervention. Caftle run overs can cause serious damage to trains,
derailment and delay them.

According to information accessed by PTI, with more than 6,500 of
the 26.000 cattle run cases in 2020-21, North Central Railway is one
of the worst affected zones. It covers 3,000 km of tracks and hosts
parts of the Delhi-Howrah corridor which is the gateway for trains

from the east to reach the northern parts of India.

The Northern Railways zone recorded the highest number of cattle
run-over cases — nearly 6,800 — across divisions of Moradabad and
Lucknow in Uttar Pradesh, Firozpur in Punjab, Ambala in Haryana,
and Delhi in 2022, officials said.

The stretches identified for building boundary walls include sections
in North Central Railways — in the Jhansi Division, and Prayagraj
Division. In the Northern Railways the sections identified are in

Moradabad Division and in Lucknow Division.
SubQuestion No : 14

Q14 gactions in which division have NOT been identified for
building the boundary walls?

Ans X A Prayagraj division

X B. Lucknow divisions
X C. Thansi division
« D. Firozpur division

Question ID : 630680437034

Option 11D : 6306801706053
Option 2 1D : 6306801706054
Option 3 1D : 6306801706056
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Option 4 ID : 6306801706055
Status : Answered
Chosen Option : D

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...  48/100



11/23/23, 2:32 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

Comprehension:

Read the given passage and answer the questions that follow.

The Indian Railways will construct 1,000 kilometres of boundary
barriers over the course of the next six months in areas of its network,
with the majority of animals being run over by trains. According to
government statistics, 200 trains were affected by cattle run overs in
the first nine days of October. As many as 4,000 trains have been
affected so far this vear. Recently. the problem has been worse for the
Mumbai-Gandhinagar Vande Bharat train, which was launched on 1
Octaber, this year. The nose of the train sustained damage owing to
three cattle run overs in the first nine days of the month.

The Railway minister Ashwini Vaishnav stated that conventional

boundary walls will not be able to solve the problem of cattle run over
but will end up affecting villagers around the area. The minister,

however, did not give any information on the material that will be
used for building the boundary walls to make them sturdy enough to
keep the cattle away from railway tracks and protect them from hwman
intervention. Cattle run overs can cause serious damage to trains,
derailment and delay them.

According to information accessed by PTI, with more than 6,500 of
the 26.000 cattle run cases in 2020-21, North Central Railway is one
of the worst affected zones. It covers 3,000 km of tracks and hosts
parts of the Delhi-Howrah corridor which is the gateway for trains

from the east to reach the northern parts of India.

The Northern Railways zone recorded the highest number of cattle
run-over cases — nearly 6,800 — across divisions of Moradabad and
Lucknow in Uttar Pradesh, Firozpur in Punjab, Ambala in Haryana,
and Delhi in 2022, officials said.

The stretches identified for building boundary walls include sections
in North Central Railways — in the Jhansi Division, and Prayagraj
Division. In the Northern Railways the sections identified are in
Moradabad Division and in Lucknow Division.

SubQuestion No : 15

Q15 After reading the passage it can be inferred that it is a:

Ans X A survey report
' B. news item
X C. press release by a railway minister

X D. magazine article

Question ID : 630680437031
Option 11D : 6306801706043
Option 2 1D : 6306801706042
Option 3 1D : 6306801706041
Option 4 1D : 6306801706044
Status : Answered
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l Chosen Option: C I
Section : Domain Knowledge
Q.1 What rating (in watt) is recommended by the BSI for a fluorescent tube of length 1500 mm?
Ans X A 50
X B. 25
X< C. 60
«D. 00
Question ID : 630680437182
Option 1 ID : 6306801706646
Option 2 ID : 6306801706645
Option 3 ID : 6306801706647
Option 4 ID : 6306801706648
Status : Answered
Chosen Option: C
Q.2 When testing the transistor, if the ratio of reverse resistance to forward resistance is very high, then the junction is
Ans X A. open circuited
+ B. good
X C. bad
X D. short circuited
Question ID : 630680437163
Option 1 ID : 6306801706570
Option 2 ID : 6306801706572
Option 3 ID : 6306801706571
Option 4 ID : 6306801706569
Status : Answered
Chosen Option : A
Q.3 Which of the following devices gives AC-to-DC conversion with very high efficiency?
Ans X A Metal rectifier
X B. Momr—generator set
X c. Rotary converter
+ D. Semiconductor diodes
Question ID : 630680437147
Option 1 ID : 6306801706508
Option 2 ID : 6306801706505
Option 3 ID : 6306801706506
Option 4 ID : 6306801706507
Status : Answered
Chosen Option : D
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Q.4 Which of the following speed control methods of a DC machine provides smooth variation in speed from zero to above
normal, with the inherent stability of speed at all the loads achieved through an adjustable voltage system?

Ans XA Armature diverter method

X B. Autotransformer method
+ C. Ward Leonard system

X D. Voltage control method

Question ID : 630680437088
Option 1 ID : 6306801706269
Option 2 ID : 6306801706272
Option 3 ID : 6306801706270
Option 4 ID : 6306801706271
Status : Answered
Chosen Option: C

Q.5 An insulated gate bipolar transistor is obtained by combining the properties of
Ans X A BIT and SCR

X B. SCR and MOSFET

« C. BIT and MOSEET

X D. UJIT and SCR

Question ID : 630680437172
Option 1 ID : 6306801706605
Option 2 ID : 6306801706606
Option 3 ID : 6306801706607
Option 4 ID : 6306801706608
Status : Answered
Chosen Option : C

Q.6 Which of the following is an advantage of synchronous motors over induction motors?
Ans A Efficiency is higher.

X B. Speed decreases with the increase in load.
X C. Price is lower.

X D. It is easy to control the speed.

Question ID : 630680437133
Option 1 ID : 6306801706450
Option 2 ID : 6306801706449
Option 3 ID : 6306801706451
Option 4 ID : 6306801706452
Status : Answered
Chosen Option : A
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Q.7 Which of the following applications does NOT use the principle of electrolysis?

Ans A Electromagnetic rotation
X B. Electroplating
X C. Electrolytic capacitor
X D. Electrotyping
Question ID : 630680437057
Option 11D : 6306801706147
Option 2 ID : 6306801706148
Option 3 ID : 6306801706145
Option 4 ID : 6306801706146
Status : Answered
Chosen Option : A
Q& Why is most part of the transformer laminated?
Ans A For minimising the eddy current losses
X B. For maximising the magnetic flux in core
X C. For achieving reduction in corrosion of the material
X D. For minimising the hissing sound
Question ID : 630680437105
Option 1 1D : 6306801706339
Option 2 ID : 6306801706338
Option 3 ID : 6306801706337
Option 4 ID : 6306801706340
Status : Answered
Chosen Option : A
Q.9 What will be the test result value of the insulation test between the conductor and earth or between the phase and neutral
if the result is *OK’?
Ans X A Equal to 1 kQ
Z B. Less than 1 MQ
« C. Greater than | MQ
X D. Lessthan 10 Q
Question ID : 630680437097
Option 11D : 6306801706307
Option 2 ID : 6306801706306
Option 3 ID : 6306801706308
Option 4 ID : 6306801706305
Status : Answered
Chosen Option : C
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Q10 Which of the following statements is correct about the DC series motor?
Ans X A
Field supply can be turned off after the motor attains full speed.
+ B. Never start the motor if load is not connected.
X C. Tt can run without load.

X D. Low starting torque is produced by the motor.

Question ID : 630680437086
Option 1 ID : 6306801706262
Option 2 ID : 6306801706263
Option 3 ID : 6306801706261
Option 4 ID : 6306801706264
Status : Answered
Chosen Option : B

Q.11  Asolid insulation piece, like bamboo or fibre, which is used to prevent the conductors from coming out of slots, is
called .

Ans oA wedge

X B. cuffing
X C. packing strip

X D. coll separator

Question ID : 630680437131
Option 1 ID : 6306801706443
Option 2 ID : 6306801706444
Option 3 ID : 6306801706441
Option 4 ID : 6306801706442
Status : Answered
Chosen Option : A

Q.12 Two conductor plates which are immersed in a liquid to form a passage of current through it are known as

Ans X A electrolytes
X B. jonisation
+ C. electrodes
X D. electrolysis

Question ID : 630680437056
Option 1 ID : 6306801706141
Option 2 ID : 6306801706144
Option 3 ID : 6306801706143
Option 4 ID : 6306801706142
Status : Answered
Chosen Option : D
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Ans

« A. Free from the changeover problem

X B. Higher deficiency than the off-line UPS system

< C. Low cost

X D. Small in size

Q13 Which of the following is an advantage of the on-line UPS system?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437174
6306801706615
6306801706613
6306801706616
6306801706614
Not Answered

Ans

XA Ve =L11V

XB V.=V, /2

v C V. =0.637 Vavg

X D. Vps=0.707 V,

avg

Q.14 Which of the following is INCORRECT according to the RMS voltage equation?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437114
6306801706374
6306801706376
6306801706375
6306801706373
Answered

C

Ans

v A 300V
X B 21052V
XC 280V
XD 250V

Q.15 WWhat is the peak value of an alternating current if the average value is 191.1 V?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437113
6306801706372
6306801706369
6306801706371
6306801706370
Answered

A
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Q.16 Which of the following parts of the alternator helps in supplying the generated EMF from the armature conductor to the
load?

Ans X A Armature core
X B. Shaft
« C. Slip rings
X D. Field winding

Question ID : 630680437108
Option 1 ID : 6306801706350
Option 2 ID : 6306801706352
Option 3 ID : 6306801706351
Option 4 ID : 6306801706349
Status : Answered
Chosen Option : D

Q.17 If the starting current of a DC series motor is about 1.5 times the full-load current, then the torque is about
times the full load torque.

Ans X A 2.50
X B. 3.00
XC 15
«D. 225

Question ID : 630680437084
Option 1 ID : 6306801706255
Option 2 ID : 6306801706256
Option 3 ID : 6306801706253
Option 4 ID : 6306801706254
Status : Answered
Chosen Option : C

Q.18 Which type of flux is suitable for soldering cast iron, wrought iron. mild steel and cast steel at low temperatures?

Ans X A Tallow

X B. 10% hydrochloric acid diluted with 90% water

X C. Sal ammonia rosin
« D. Zinc chloride

Question ID : 630680437045
Option 1 ID : 6306801706100
Option 2 ID : 6306801706098
Option 3 ID : 6306801706099
Option 4 ID : 6306801706097
Status : Answered
Chosen Option : D
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Q.19 The magnetic strength of which of the following magnets is controlled by the electric current?

Ans  x' A Permanent magnet
X B. Temporary magnet
X c. Fine magnet

« D. Electromagnet

Question ID : 630680437120
Option 1 ID : 6306801706398
Option 2 ID : 6306801706397
Option 3 ID : 6306801706399
Option 4 ID : 6306801706400
Status : Answered
Chosen Option : D

Q.20 Which of the following bonds is found between semiconductor materials silicon and germanium?
Ans X A. Non-directional bond
X B. Metallic bond

+ C. Covalent bond

& D. Tonic bond

Question ID : 630680437160
Option 1 ID : 6306801706560
Option 2 ID : 6306801706559
Option 3 ID : 6306801706558
Option 4 ID : 6306801706557
Status : Answered
Chosen Option: C

Q21 Which of the following materials is preferred for lightning conductors?
Ans  # A Copper

X B. Laminated iron

X C. Aluminium

A D. Galvanised iron

Question ID : 630680437158
Option 1 ID : 6306801706549
Option 2 ID : 6306801706552
Option 3 ID : 6306801706550
Option 4 ID : 6306801706551
Status : Not Answered
Chosen Option : --
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Q22 which of the following is a characteristic of a good insulator?

Ans A High resistance to the flow of electrons

X B. Good electric conductor
X C.

Electrons in the outer shell and sub-shells can move more easily from one atom to another

X D. Good electric charge flow

Question ID : 630680437042
Option 1 ID : 6306801706087
Option 2 ID : 6306801706088
Option 3 ID : 6306801706086
Option 4 ID : 6306801706085
Status : Answered
Chosen Option : A

Q.23 1In transistors, if good biasing is required, then which of the following parameters needs to be stable?
Ans X A Collector current
« B. Q-point

X c. Value of B

X D. Temperature

Question ID : 630680437165
Option 1 ID : 6306801706578
Option 2 ID : 6306801706577
Option 3 ID : 6306801706580
Option 4 ID : 6306801706579
Status : Answered
Chosen Option : B

Q24 Which of the following is NOT a part of the squirrel-cage induction motor?

Ans A Slip rings

< B. Stator
« C. Rotor bars

& D. Terminal cover

Question ID : 630680437139
Option 1 ID : 6306801706475
Option 2 ID : 6306801706473
Option 3 ID : 6306801706476
Option 4 ID : 6306801706474
Status : Answered
Chosen Option : A
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Q.25 The electromotive force (EMF) causes to

the electrons through the circuit.

Ans XA limit
X B. create
X C. collide
+ D. drive
Question ID : 630680437053
Option 11D : 6306801706130
Option 2 ID : 6306801706132
Option 3 ID : 6306801706131
Option 4 ID : 6306801706129
Status : Answered
Chosen Option : D
Q.26 K
>
g
Find the current flowing through the above circuit.
Ans XA 15A
« B 1.5 mA
XC 1l5A
XD 015A
Question ID : 630680437055
Option 1 ID : 6306801706140
Option 2 ID : 6306801706138
Option 3 ID : 6306801706139
Option 4 ID : 6306801706137
Status : Answered
Chosen Option : B
Q.27 What will be the pole pitch of a lap-wound machine if the number of commentator segments is 6; the number of slots is
32 and the number of poles is 4?
Ans XA 16 slots
X B. 32 slots
X C. 4 slots
+ D. B slots
Question ID : 630680437129
Option 1 ID : 6306801706435
Option 2 ID : 6306801706436
Option 3 ID : 6306801706433
Option 4 ID : 6306801706434
Status : Answered
Chosen Option : D
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Q.28 Which of the following is required for safety purpose when working with operating switch panels and control gears?

Ans X A Loose shirt sleeves
X B. Ladder
+ C. Rubber mats
X D. Safety belts

Question ID : 630680437035
Option 1 ID : 6306801706060
Option 2 ID : 6306801706057
Option 3 ID : 6306801706058
Option 4 ID : 6306801706059
Status : Answered
Chosen Option: C

Q29 wWhich of the following is an application of the uni-junction transistor?
Ans A Timing circuit

X B. Pulse circuit reference
X C. DC motor control

& D. Full-wave control circuit

Question ID : 630680437170
Option 1 ID : 6306801706597
Option 2 ID : 6306801706599
Option 3 ID : 6306801706598
Option 4 ID : 6306801706600
Status : Answered
Chosen Option : A

Q.30 What will be the generated frequency of a 4-pole alternator if it is run at the speed of 1500 rpm?
Ans X A 40 Hz

« B 50Hz
X C. 60 Hz
XD 20Hz

Question ID : 630680437107
Option 1 ID : 6306801706347
Option 2 ID : 6306801706346

Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706345
6306801706348
Answered

B
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faults?

Ans X A Admittance relay

+ B. Differential relay
X c. Earth fault relay

X D. Distance relay

Q.31 Which type of relay is used for protecting generators, transformers and transmission lines from the effect of internal

Question ID : 630680437153
Option 1 ID : 6306801706530
Option 2 ID : 6306801706531
Option 3 ID : 6306801706529
Option 4 ID : 6306801706532
Status : Answered
Chosen Option : B
Q.32 which of the following factors does NOT change the capacity of a cell?
Ans X A Strength of the electrolyte
X B. Number of plates
+ C. Weight of plates
X D. Size of plates
Question ID : 630680437061
Option 11D : 6306801706164
Option 2 ID : 6306801706162
Option 3 ID : 6306801706163
Option 4 ID : 6306801706161
Status : Answered
Chosen Option : C
Q.33 The bending of electrodes caused by overcharging and discharging, improper electrolyte and temperature is known as
Ans X A partial short
X B. hard sulphation
« C. buckling
X D. short-circuiting
Question ID : 630680437064
Option 11D : 6306801706174
Option 2 ID : 6306801706176
Option 3 ID : 6306801706173
Option 4 ID : 6306801706175
Status : Answered
Chosen Option : C
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Q.34 Which of the following types of diode has a metal needle connected with pressure onto a small piece of germanium or
silicon?

Ans & A Point-contact diode
& B. Awvalanche diode

X C. Signal diode

X D. Junction diode

Question ID : 630680437161
Option 1 ID : 6306801706562
Option 2 ID : 6306801706563
Option 3 ID : 6306801706564
Option 4 ID : 6306801706561
Status : Answered
Chosen Option : A

@35 Which of the following is NOT used as a protective device in circuits?
Ans X A Polyswitch
X B. Circuit breaker

+ C. Buzzer
< D. Fuse

Question ID : 630680437118
Option 1 ID : 6306801706391
Option 2 ID : 6306801706392
Option 3 ID : 6306801706389
Option 4 ID : 6306801706390
Status : Answered
Chosen Option: C

Q.36 What will be the impedance value of an inductive coil if the resistance of the coil is 7 Q and its reactance is 10 Q?

Ans XA 149 Q

Chosen Option :

XB 5375Q

«C 1220

XD 1890
Question ID : 630680437116
Option 1 ID : 6306801706381
Option 2 ID : 6306801706382
Option 3 ID : 6306801706384
Option 4 ID : 6306801706383

Status : Answered

Cc
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Q.37 Which of the following factors is required to be corrected when the light emitted by an illumination source should not
strike the eyes of occupants or workers?

Ans X A Maintenance
X B. Cost
X C. Nature of work
+ D. Design of apartment

Question ID : 630680437126
Option 1 ID : 6306801706424
Option 2 ID : 6306801706423
Option 3 ID : 6306801706421
Option 4 ID : 6306801706422
Status : Answered
Chosen Option : D

Q.38 Which of the following losses are considered under the category of variable losses of a DC machine?

Ans X A Eddy current losses
X B. Windage losses
X C. Hysteresis losses
+ D. Field copper losses
Question ID : 630680437082
Option 1 ID : 6306801706245
Option 2 ID : 6306801706247
Option 3 ID : 6306801706246
Option 4 ID : 6306801706248
Status : Answered
Chosen Option : D
Q.39 co1 COl!.l:_ 3
, CcolL 2’-
1 | 2 T a3 T a T
Identify the type of winding in the DC machine shown in the above figure.
Ans

X A. Simplex wave winding
X B. Duplex wave winding
X ¢. Simplex lap winding
« D. Duplex lap winding

Question ID : 630680437121
Option 1 ID : 6306801706403
Option 2 ID : 6306801706404
Option 3 ID : 6306801706401
Option 4 ID : 6306801706402
Status : Answered
Chosen Option : B
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Q.40 A four-pole generator with a wave-wound armature has 1020 conductors. What will be the voltage generated in the
machine when driven at the speed of 1500 rpm, assuming the flux per pole to be 7.0 mWb?

Ans XA 245V
B 357V
XC 423V
XD 380V

Question ID : 630680437079
Option 1 ID : 6306801706233
Option 2 ID : 6306801706234
Option 3 ID : 6306801706236
Option 4 ID : 6306801706235
Status : Answered
Chosen Option : B

Q.41 Which of the following parameters is INCORRECT for dependency of the resistance of a material?
Ans X A Nature of the material of the conductor
# B. Initial resistance

X C. Rise in temperature

+ D. Weight of the material

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437072

6306801706207
6306801706205
6306801706206
6306801706208

Marked For Review

protection against direct lightning strikes?
Ans X A Lightning rods

X B. Circuit breaker

« C. Ground wires

X D. Protecting relay

Q.42 Which of the following is usually placed above the towers that support overhead transmission lines, for providing

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437156
6306801706541
6306801706542
6306801706543
6306801706544
Answered

(o]
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Ans A 5502

Q.43 Find the resistance of a heater coil at 25°C if its resistance is 65 Q at 75°C, with 0.004°C of temperature coefficient.

XB 450
XC 60Q
XD 500
Question ID : 630680437073
Option 1 ID : 6306801706210
Option 2 ID : 6306801706212
Option 3 ID : 6306801706209
Option 4 ID : 6306801706211
Status : Answered
Chosen Option : A
Q44 & it s Hr dEt F W od & dew W AT = E e ¥ Bw iy v v RBe e e
R 39T BT ST 22
Ans XA wBR wIEE & ©E
X B FRaT Fr AlEAT
v C o SFR
XD g
Question ID : 630680437180
Option 1 ID : 6306801706639
Option 2 ID : 6306801706637
Option 3 ID : 6306801706638
Option 4 ID : 6306801706640
Status : Answered
Chosen Option : C
Q45 YWater is a material and air is a substance.
Ans A diamagnetic; paramagnetic
X B. paramagnetic; diamagnetic
X C. diamagnetic; ferromagnetic
X D. ferromagnetic; paramagnetic
Question ID : 630680437067
Option 1 ID : 6306801706187
Option 2 ID : 6306801706188
Option 3 ID : 6306801706185
Option 4 ID : 6306801706186
Status : Answered
Chosen Option : A
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Q46 Which of the following is a disadvantage of universal motors?

Ans X A Operate on direct current or AC supply
X B. Tapped fields provide an easy method of controlling speed.
X C. High starting torque is developed.
+ D. Useful only for intermittent duty applications
Question ID : 630680437145
Option 1 ID : 6306801706498
Option 2 ID : 6306801706499
Option 3 ID : 6306801706497
Option 4 ID : 6306801706500
Status : Answered
Chosen Option : D
Q.47

Which of the following materials has ideal dielectric strength?
Ans X A Steel

X B. Sulphur

+ C. Mica

X D. Silica

Question ID : 630680437092
Option 1 ID : 6306801706285
Option 2 ID : 6306801706288
Option 3 ID : 6306801706286
Option 4 ID : 6306801706287
Status : Answered
Chosen Option: C

Q.48 What is the name of the part indicated by no. 3 in the above figure of a fuse cartridge?

Cartridge Fuse
Ans & A Fuse wire
X B. Foot contact
X C. Break indicator
X D. Sand filling

Question ID : 630680437075
Option 1 ID : 6306801706218
Option 2 ID : 6306801706220
Option 3 ID : 6306801706217
Option 4 ID : 6306801706219
Status : Answered
Chosen Option: C
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« A Higher efficiency
X B. Higher input impedance
X C. Higher leakage flux

X D. Lower voltage regulation

Q.49 What is the cutting speed (in metres per minute) if the spindle speed is 398 rpm and a mild steel bar is cut with a high-
speed drill of 24 mm diameter?
Ans X' A 26
X B. 55
xXc 12
+D. 30
Question ID : 630680437041
Option 1 ID : 6306801706082
Option 2 ID : 6306801706084
Option 3 ID : 6306801706081
Option 4 ID : 6306801706083
Status : Not Answered
Chosen Option : --
Q.50 Which of the following is an advantage of the auto transformer over the two- winding transformer?
Ans

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437103
6306801706329
6306801706331
6306801706332
6306801706330
Answered

D

Ans

+ A. Regenerative brake control
X B. Good reliability
X C. Precise speed control

X D. Reduction in weight and size

Q.51 Which of the following is possible in DC-DC drive control for a DC motor?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437089
6306801706274
6306801706275
6306801706273
6306801706276
Answered

A
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Ans

motor?

X A Inter-poles
X 8. Brushes with high contact resistance
X C. Compensating winding

« D. Pure copper brushes

Q.52 Which of the following is used to increase sparking at the brush position when the AC supply is used in a universal

Question ID : 630680437143
Option 1 ID : 6306801706490
Option 2 ID : 6306801706491
Option 3 ID : 6306801706489
Option 4 ID : 6306801706492
Status : Answered
Chosen Option : D
Q.53 According to the BSI, how many ceiling fan units will be required if the area of the main dwelling unit is 140 m??
Ans XA 2103
XB 3to4
XC 4t05
D 5to7
Question ID : 630680437094
Option 11D : 6306801706293
Option 2 ID : 6306801706294
Option 3 ID : 6306801706295
Option 4 ID : 6306801706296
Status : Answered
Chosen Option : A
Q.54 Which type of soldering is used for quantity production and for tinning works similar to component soldering on printed
circuit boards?
Ans X A Temperature-controlled soldering
« B. Dip soldering
X C. Soldering with a soldering gun
X D. Soldering with a soldering iron
Question ID : 630680437046
Option 1 ID : 6306801706102
Option 2 ID : 6306801706101
Option 3 ID : 6306801706104
Option 4 ID : 6306801706103
Status : Answered
Chosen Option : D
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Q55 WWhat happens when a cell connection is reversed in a parallel group?
Ans XA Power decreases

X 8. High voltage is produced

« C. A short-circuit current flows

« D. Power increases

Question ID : 630680437065
Option 1 ID : 6306801706180
Option 2 ID : 6306801706177
Option 3 ID : 6306801706178
Option 4 ID : 6306801706179
Status : Answered
Chosen Option : B

Q.56 The inter-pole winding of a DC generator is connected

Ans X A across
# B. in shunt with
X C. in parallel with

the armature winding.

« D. in series with

Question ID : 630680437080
Option 1 ID : 6306801706240
Option 2 ID : 6306801706239
Option 3 ID : 6306801706238
Option 4 ID : 6306801706237
Status : Answered
Chosen Option : D

Q.57 Which of the following tests of cables does NOT work on the principle of Wheatstone bridge?

Ans X A Varley loop test

X B. Loop test
« C. Open-loop test
X D. Murray loop test

Question ID : 630680437051

Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706123
6306801706121
6306801706124
6306801706122
Answered

C
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Q58 The peak-to-peak value of a sine wave is equal to
Ans X A half of the peak value
X B. the maximum value of the wave

" C. two times of the maximum value of the wave

& D. two times of the half wave

Chosen Option :

Question ID : 630680437100
Option 1 ID : 6306801706319
Option 2 ID : 6306801706320
Option 3 ID : 6306801706318
Option 4 ID : 6306801706317
Status : Answered
Chosen Option: C
Q.59 Which of the following components is used in constant-current sources?
Ans X 'A. MOSFET
X B UIT
« C. FET
X D. IGBT
Question ID : 630680437171
Option 11D : 6306801706603
Option 2 ID : 6306801706602
Option 3 ID : 6306801706601
Option 4 ID : 6306801706604
Status : Answered
Chosen Option : D
Q.60 Which of the following sections of the National Electrical Code — 2011 covers the guidelines on safety procedures and
practices in electrical work?
Ans X A Section 9
X B. Section 4
+ C. Section 19
X D. Section 14
Question ID : 630680437037
Option 1 ID : 6306801706066
Option 2 ID : 6306801706065
Option 3 ID : 6306801706068
Option 4 ID : 6306801706067
Status : Not Answered
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Q.61 Which of the following statements is INCORRECT about the universal motor when compared with the DC series
motor?

Ans X A Inter-pole is required.

X 8. It runs on both AC supply and DC supply.
X C. Minimum air gap is required.

« D. Compensating winding is not required for a large machine.

Question ID : 630680437144
Option 1 ID : 6306801706495
Option 2 ID : 6306801706493
Option 3 ID : 6306801706496
Option 4 ID : 6306801706494
Status : Answered
Chosen Option : D

Q62 YWhat is the function of pole shoes in a DC machine?
Ans X A To increase the current density

+ B. To spread out the flux in the air gap uniformly
X ¢. To produce a low magnetic field

X D. To produce the de-magnetic effect

Question ID : 630680437078
Option 1 ID : 6306801706232
Option 2 ID : 6306801706231
Option 3 ID : 6306801706230
Option 4 ID : 6306801706229
Status : Answered
Chosen Option : B

Q.63 Which of the following is an advantage of the rotary converter over other types of converter?
Ans A High power factor

X B. Less noise
X c. Very low cost

X D. Low maintenance

Question ID : 630680437148

Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706511
6306801706510
6306801706509
6306801706512
Answered

A
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Q.64 Which of the following options is INCORRECT as a function of the power modulator?
Ans X A
It selects the mode of operation of the motor, such as motoring and braking.
X B.
It converts electrical energy of the source into a form suitable to the motor.
« C.

During transient operations, it increases the motor current within permissible limits.

X D.

It modulates flow of power from the source to the motor in such a manner that motor is imparted speed torque
characteristic required by the load.

Question ID : 630680437179
Option 1 ID : 6306801706636
Option 2 ID : 6306801706635
Option 3 ID : 6306801706634
Option 4 ID : 6306801706633
Status : Not Answered
Chosen Option : --

Q65 Which of the following is the symbol of a moving iron instrument?

Ans
o A

XB.D
Xc.%

o (]

e ]

Question ID : 630680437110
Option 1 ID : 6306801706358
Option 2 ID : 6306801706357
Option 3 ID : 6306801706359
Option 4 ID : 6306801706360
Status : Answered
Chosen Option : B

Q.66 Which of the following is the correct sequence for a new type of service connection for a power circuit?

Ans o A
Energy meter — IC cut-out — main switch — distribution board
X B.
IC cut-out — energy meter — main switch — distribution board
X C.
IC cut-out — energy meter — distribution board — main switch

X D.
Main switch — energy meter — distribution board — IC cut-out

Question ID : 630680437181
Option 1 ID : 6306801706642
Option 2 ID : 6306801706641
Option 3 ID : 6306801706644
Option 4 1D : 6306801706643
Status : Answered
Chosen Option : A
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Ans

X A. Cost is very high
X B. Life is only of few years

# C. Difficult to extend and remove

« D. Provides good mechanical protection

Q.67 Which of the following options is correct about PVC conduit wiring?

Question ID : 630680437151
Option 1 ID : 6306801706521
Option 2 ID : 6306801706522
Option 3 ID : 6306801706524
Option 4 ID : 6306801706523
Status : Answered
Chosen Option : A
Q.68 Which of the following is an advantage of underground (UG) cables over outdoor cables?
Ans A
UG cables are not affected by man-made problems like sabotage, strike, etc.
X B. The cost of joints is high in case of UG cables
X C.
Higher insulation is required at high voltages as compared to overhead lines
X D. Initial cost of an UG cable system is high
Question ID : 630680437049
Option 11D : 6306801706116
Option 2 ID : 6306801706114
Option 3 ID : 6306801706115
Option 4 ID : 6306801706113
Status : Answered
Chosen Option : A
Q.69 Which of the following is correct as an electrical property of insulating materials?
Ans o A Insulation resistance
X B. Viscosity
X C. Hygroscopicity
X D. Thermal conductivity
Question ID : 630680437091
Option 1 ID : 6306801706281
Option 2 ID : 6306801706282
Option 3 ID : 6306801706284
Option 4 ID : 6306801706283
Status : Answered
Chosen Option : A
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Q.70 Inwhich condition of the skin or in which area of the human body are the lowest resistive values produced?

Ans X A Internal body-hand
+ B. Ear to ear
X C. Wet skin
X D. Dry skin

Question ID : 630680437099
Option 1 ID : 6306801706315
Option 2 ID : 6306801706316
Option 3 ID : 6306801706314
Option 4 ID : 6306801706313
Status : Answered
Chosen Option: C

Q.71 Find the number of coils per phase per pole of a 3-phase induction motor with 36 slots, 12 coils and a 4-pole stator.

Ans XA 4
XB @
¥C. 1
KD 2

Question ID : 630680437142
Option 1 ID : 6306801706487
Option 2 ID : 6306801706488
Option 3 ID : 6306801706485
Option 4 ID : 6306801706486
Status : Answered
Chosen Option: C

Q.72 Which of the following parameters is NOT required for producing dynamically induced EMF?
Ans X A Magnetic field

X B.
Relative motion between the conductor and the magnetic field

& C. Conductor
« D. Electrostatic field

Question ID : 630680437077

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706225
6306801706227
6306801706226
6306801706228
Answered

D
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Q.73 An alternator operating at a unity power factor has a

Ans X A small negative

X B. large negative
« C. small positive

X D. large positive

voltage regulation.

Question ID : 630680437109
Option 1 ID : 6306801706355
Option 2 ID : 6306801706356
Option 3 ID : 6306801706353
Option 4 ID : 6306801706354
Status : Answered
Chosen Option: C
Q.74 wWhat is the advantage of the horn gap used in transmission line equipment?
Ans X A
Corrosion or pitting adversely affects the performance of the arrester.
X B. The time of operation is comparatively long.
X C.
Bridging of the gap by some external agent (for example, birds) creates a short circuit.
+ D. The arc is self-clearing.
Question ID : 630680437157
Option 1 1D : 6306801706547
Option 2 ID : 6306801706548
Option 3 ID : 6306801706546
Option 4 ID : 6306801706545
Status : Answered
Chosen Option : D
Q75 Which of the following is NOT considered as a relay?
Ans X A Under-voltage relay
X B. Reactance relay
« C. Resistance relay
X D. Impedance relay
Question ID : 630680437152
Option 1 1D : 6306801706525
Option 2 ID : 6306801706527
Option 3 ID : 6306801706528
Option 4 1D : 6306801706526
Status : Answered
Chosen Option: C
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Q.76 Which type of insulating material is used in a DC motor winding in the form of liquid?
Ans X A Mica folium

+ B. Varnish

X C. Pressphan paper

X D. Fibre glass tape

Question ID : 630680437090
Option 1 ID : 6306801706278
Option 2 ID : 6306801706279
Option 3 ID : 6306801706280
Option 4 ID : 6306801706277
Status : Answered
Chosen Option : B

Q.77 Which of the following is considered as a marking medium in marking tools?
Ans X A Steel rule

+ B. Whitewash

X c. Try square

X D. Prick punch

Question ID : 630680437039
Option 1 ID : 6306801706074
Option 2 ID : 6306801706073
Option 3 ID : 6306801706076
Option 4 ID : 6306801706075
Status : Answered
Chosen Option : D

Q.78 In which type of DC motors is the torque directly proportional to the square of the armature current?
Ans A DC series motors

X B. Differential compound motors

X C. DC shunt motors

X D. Cumulative compound motors

Question ID : 630680437123

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706411
6306801706410
6306801706412
6306801706409
Answered

A
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Q.79 Which of the following statements is correct about the digital storage oscilloscope (DSO)?
Ans X A
The digital storage oscilloscope collects data only after triggering.

+ B. In DSO, the operating speed is low.

X C. The resolution is low in DSO
X D.
For higher-frequency signals, the DSO cannot produce bright images.

Question ID : 630680437112
Option 1 ID : 6306801706365
Option 2 ID : 6306801706367
Option 3 ID : 6306801706368
Option 4 ID : 6306801706366
Status : Not Answered
Chosen Option : --

Q.80 To which type of DC motor is the speed torque characteristic shown below related?

|

TOROUE

SPEER

Ans X' A DC series motor

X B. Cumulative compound motor
A C. DC shunt motor

+ D. Differential compound motor

Question ID : 630680437124
Option 1 ID : 6306801706413
Option 2 ID : 6306801706415
Option 3 ID : 6306801706414
Option 4 ID : 6306801706416
Status : Answered
Chosen Option : D

Q.81 What is the power factor of an AC load circuit, whose resistance is 10 Q and reactance is 0.46 ©, when the supply is
220v?

Ans X A Zero
X B. 0.5
«C. 1
X D. 0.8

Question ID : 630680437101
Option 1 ID : 6306801706321
Option 2 ID : 6306801706322
Option 3 ID : 6306801706324
Option 4 ID : 6306801706323
Status : Answered
Chosen Option : C
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Q.82 What will be the battery rating after grouping 4 batteries of rating & Ah. each connected in parallel?

Ans X A 2Ah
+ B 32 Ah
X c 8Ah
X D. 16 Ah
Question ID : 630680437063
Option 1 ID : 6306801706169
Option 2 ID : 6306801706172
Option 3 ID : 6306801706170
Option 4 ID : 6306801706171
Status : Answered
Chosen Option : B
Q.83 According to the IE rules, the leakage current in an installation should NOT exceed part of the full-load current
of the installation.
Ans XA 1/6
X B. 1/100
X C. 1/3000
D 1/5000

Question ID : 630680437096
Option 1 ID : 6306801706301
Option 2 ID : 6306801706302
Option 3 ID : 6306801706303
Option 4 ID : 6306801706304
Status : Answered
Chosen Option : D

Q.84 Which of the following power electronics devices produces the highest on-state voltage drop?

Ans X A IGBT
X B. SCR
« C. MOSFET
X 0. BIT

Question ID : 630680437173
Option 1'ID : 6306801706611

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706609
6306801706610
6306801706612
Answered

(o]
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Ans X A Rotary converter
X B. Mercury arc rectifier

« C. Motor-generator set
< D.

action in transmission overhead lines?

Q.85 Which of the following devices directly produces DC supply from a DC generator that is rotated by an AC motor?

Which of the following is generated by corona effect, which may cause corrosion of the conductor due to chemical

Question ID : 630680437146
Option 1 ID : 6306801706503
Option 2 ID : 6306801706502
Option 3 ID : 6306801706501
Option 4 ID : 6306801706504
Status : Answered
Chosen Option : C
Q.86 Which section of an automatic stabiliser is to be suspected when there is no output voltage at the output socket?
Ans X A. Relay capacitor
X B. Transformer
+ C. Input buck/boost relays
X D. Electronic circuit
Question ID : 630680437175
Option 1 ID : 6306801706620
Option 2 ID : 6306801706619
Option 3 ID : 6306801706617
Option 4 ID : 6306801706618
Status : Answered
Chosen Option: C
Q.87 Which of the following quadrants represents the reverse braking decelerating quadrant with negative speed and positive
torque?
Ans X A Quadrant III
X B. Quadrant I
X C. Quadrant II
« D. Quadrant IV
Question ID : 630680437178
Option 11D : 6306801706631
Option 2 ID : 6306801706629
Option 3 ID : 6306801706630
Option 4 ID : 6306801706632
Status : Answered
Chosen Option : D
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Q.88 ADC shunt motor operating on 230 V takes an armature current of 20 A at 1000 rpm. If its armature resistance is 1 €,
then what is the back EMF of the motor?

Ans XA 110V
XB 250V
XC 190V
«D 210V

Question ID : 630680437122
Option 1 ID : 6306801706405
Option 2 ID : 6306801706408
Option 3 ID : 6306801706406
Option 4 ID : 6306801706407
Status : Answered
Chosen Option : D

Q89 wWhich of the following is a disadvantage of the nickel—iron cell?
Ans X A It can be left discharged for a long time.

+ B. It has high internal resistance.

X c. It is light in weight and hence, it is portable.

X D. It can work in higher temperatures.

Question ID : 630680437062
Option 1 ID : 6306801706168
Option 2 ID : 6306801706167
Option 3 ID : 6306801706165
Option 4 ID : 6306801706166
Status : Answered
Chosen Option : B

Q.90 Which of the following magnetising methods is used when the opposite poles of two magnets are placed next to each
other at the centre of the magnetic substance and are rubbed in opposite direction along it?

Ans A Double-touch method

X B. Single-touch method
X C. Magnetising by electric current
X D. Magnetising by induction

Question ID : 630680437119

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706394
6306801706393
6306801706396
6306801706395
Answered

A
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Q.91 Which of the following types of motor is used to drive the drum switch?

Ans X A. Steeper motor
« B. Shaded-pole single-phase motor
X C. Repulsion motor

& D. DC series motor

Question ID : 630680437184
Option 1 ID : 6306801706655
Option 2 ID : 6306801706653
Option 3 ID : 6306801706656
Option 4 ID : 6306801706654
Status : Answered
Chosen Option : B

Q.92 1Ina DC machine, the changes in the direction of current, which take place in the winding element, just before, during
and after the short circuit. are called

Ans X A compensation

+ B. commutation
X C. de-magnetising effect

X D. cross-magnetising

Question ID : 630680437081
Option 1 ID : 6306801706243
Option 2 ID : 6306801706242
Option 3 ID : 6306801706241
Option 4 ID : 6306801706244
Status : Answered
Chosen Option : B

Q.93 Which of the following types of cables is constructed in a way similar to that of an ordinary solid type cable, except that
it is triangular in shape and the thickness of its lead sheath is 75% of that of a solid cable?

Ans X A. Qil-filled cable
& B. Screened cable

« C. Gas pressure cable

X D. Single-core sheath channel

Question ID : 630680437050

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706119
6306801706120
6306801706118
6306801706117
Answered

(o]
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Q94 Tpverted V curves are drawn between the of a synchronous motor.

Ans

X A field current and the field voltage

X B. armature current and the field current
« C. power factor and the field current

X D. power factor and the armature current

Question ID : 630680437134
Option 1 ID : 6306801706456
Option 2 ID : 6306801706453
Option 3 ID : 6306801706455
Option 4 ID : 6306801706454
Status : Answered
Chosen Option: C

Q.95 Which of the following classes of squirrel-cage motor produces high starting torque?
Ans A Class D

X B ClassF

X C Class A

XD Class B

Question ID : 630680437136
Option 1 ID : 6306801706463
Option 2 ID : 6306801706464
Option 3 ID : 6306801706461
Option 4 ID : 6306801706462
Status : Not Answered
Chosen Option : --

Q96 ywhat is the SI unit of resistivity in cable conductors?

Ans XA Q/m
« B. Q-m
X C Q-m/s
X D. m-s/Q

Question ID : 630680437047

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801706105
6306801706106
6306801706107
6306801706108
Answered

B

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...

81/100



11/23/23, 2:32 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

Q.97 Which of the following types of DC motors has shunt field coils connected in parallel with the series amalgamation of
both the series field coil and the armature?

Ans A Long-shunt compound motor
X B. Short-shunt compound motor
A C. DC shunt motor
A D. DC series motor
Question ID : 630680437085
Option 1 ID : 6306801706260
Option 2 ID : 6306801706259
Option 3 ID : 6306801706258
Option 4 ID : 6306801706257
Status : Answered
Chosen Option : A
Q98 wWhich of the following types of amplifier is used as a multi-vibrator?
Ans A RC coupled amplifier
X B. Low signal amplifier
X C. Audio frequency amplifier
X D. Class-A amplifier
Question ID : 630680437169
Option 1 ID : 6306801706593
Option 2 ID : 6306801706595
Option 3 ID : 6306801706596
Option 4 ID : 6306801706594
Status : Answered
Chosen Option : A
Q.99 Which of the following functions is NOT performed by the drum switch in decorative lighting?
Ans X A Running lights
+ B. Increasing illumination
X c. Flash lights
X D. Flickering lights
Question ID : 630680437183
Option 1 ID : 6306801706652
Option 2 ID : 6306801706651
Option 3 ID : 6306801706650
Option 4 ID : 6306801706649
Status : Not Answered
Chosen Option : --
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Q.100 In a microwave oven. the coil of the
Ans X A thermo cut-out
X B. dual-latch switch

X C. timer assembly

+ D. cook relay

is initially energised by closing the cook switch.

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680437076

: 6306801706224
: 6306801706223
: 6306801706222
: 6306801706221
: Answered

:D

Q101 Which of the following is considered as a power amplifier?
Ans X A. VHF and UHF amplifiers

X B. Large signal amplifier

« C. Class-C amplifier

X D. Impedance coupled amplifier

Question ID : 630680437168
Option 1 ID : 6306801706592
Option 2 ID : 6306801706590

Option 3 ID : 6306801706591
Option 4 ID : 6306801706589
Status : Answered
Chosen Option: C
Q.102 Oy o,
I K = i
i
Ay Ry Ay
D LI,
*
Identify the speed control method that is shown in the above circuit.
Ans X A. Field tapping method
X B. Armature diverter method
+ C. Field diverter method
X D. Armature control method
Question ID : 630680437087
Option 11D : 6306801706267
Option 2 ID : 6306801706268
Option 3 ID : 6306801706266
Option 4 ID : 6306801706265
Status : Answered
Chosen Option : C
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Q103 How many cells of 1.5 V will be required for producing 21 V?
Ans XA O

XB 12

v C 14

XD 18

Question ID : 630680437066
Option 1 ID : 6306801706184
Option 2 ID : 6306801706183
Option 3 ID : 6306801706182
Option 4 ID : 6306801706181
Status : Answered
Chosen Option: C

Q.104 Which of the following is constructed through the resistor for taking different voltages for different parts?

Ans X' A. Wheatstone bridge
« B. Voltage divider

& C. Transformer

# D. Current controller

Question ID : 630680437070
Option 1 ID : 6306801706200
Option 2 ID : 6306801706199
Option 3 ID : 6306801706198
Option 4 ID : 6306801706197
Status : Answered
Chosen Option : B

Q.105 Which of the following AC winding designs uses a long coil of sufficient length and is first wound and then inserted in
a slot?

Ans A Skein winding

X B. Chain winding
X C. Basket winding

X D. Concentric winding

Question ID : 630680437141
Option 1 ID : 6306801706483
Option 2 ID : 6306801706484
Option 3 ID : 6306801706482
Option 4 ID : 6306801706481
Status : Answered
Chosen Option : A
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Q.106 Variable-voltage variable-frequency drives are used for the efficient

Ans X A voltage control of DC generators
X B. voltage control of AC generators
X C. speed control of DC motors
+ D. speed control of AC motors
Question ID : 630680437176
Option 1 ID : 6306801706622
Option 2 ID : 6306801706624
Option 3 ID : 6306801706621
Option 4 ID : 6306801706623
Status : Answered
Chosen Option : D
Q.107
REBATE PLANE
Identify the part of the rebate plane, which is indicated by ‘E’ in the above figure.
Ans X A Cap with a thumb screw
+ B. Depth gauge
X C. Handle
X D. Blade
Question ID : 630680437040
Option 11D : 6306801706080
Option 2 ID : 6306801706079
Option 3 ID : 6306801706077
Option 4 ID : 6306801706078
Status : Answered
Chosen Option : A
Q.108 In case of which of the following electric lamps can the light be obtained by discharge of electricity between two
electrodes in gas or vapour?
Ans X A Filament lamp
+ B. Hot cathode lamp
X C. Arc lamp
X D. Halogen lamp
Question ID : 630680437127
Option 11D : 6306801706428
Option 2 ID : 6306801706427
Option 3 ID : 6306801706425
Option 4 ID : 6306801706426
Status : Answered
Chosen Option : B
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Q109 Which of the following methods is NOT used for magnetising a material?

Ans X A Method by using electric current
+ B. Casting method
X C. Induction method
X D. Touch method
Question ID : 630680437068
Option 1 ID : 6306801706190
Option 2 ID : 6306801706191
Option 3 ID : 6306801706192
Option 4 ID : 6306801706189
Status : Answered
Chosen Option : B
Q.110 The voltage regulation is and the efficiency is in case of an ideal power transformer.
Ans % A 100%: zero
X B. lower; 50%
« C. zero: 100%
X D. 50%; higher
Question ID : 630680437104
Option 1 ID : 6306801706336
Option 2 ID : 6306801706333
Option 3 ID : 6306801706335
Option 4 ID : 6306801706334
Status : Answered
Chosen Option: C
Q.11 what is the length of a copper cable if the cross-sectional area of the copper cable is 1.766 pmz: resistance is 0.3 Q and
specific resistivity is 0.017 pQ-m?
Ans X' A 16.25m
XB. 42.15m
X C. 28.56m
D 31.2m
Question ID : 630680437048
Option 11D : 6306801706109
Option 2 ID : 6306801706112
Option 3 ID : 6306801706110
Option 4 ID : 6306801706111
Status : Answered
Chosen Option : D
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QM2 How much charge is present in a battery of 1 Ah?
Ans XA 360 C

+ B. 3600 C
Xc locC
XD 60C
Question ID : 630680437043
Option 11D : 6306801706091
Option 2 ID : 6306801706092
Option 3 ID : 6306801706089
Option 4 ID : 6306801706090
Status : Answered
Chosen Option : B
Q13 Which of the following is an advantage of DC drives over AC drives?
Ans X A Provide a short range of speed
X B. No accessory mounting flanges
X C. DC drives are more expensive
« D. DC drives are less complex
Question ID : 630680437177
Option 1 1D : 6306801706628
Option 2 ID : 6306801706627
Option 3 ID : 6306801706626
Option 4 ID : 6306801706625
Status : Answered
Chosen Option : D
Q.114 Which of the following parts of the lead—acid cell is used to avoid short circuit between the positive and negative
plates?
Ans A Separators
X B. Post-terminal
X C. Faure plate
X D. Plante plates
Question ID : 630680437060
Option 11D : 6306801706159
Option 2 ID : 6306801706157
Option 3 ID : 6306801706160
Option 4 ID : 6306801706158
Status : Answered
Chosen Option : A
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Q115 Which of the following conditions must be fulfilled before electroplating an article?

1. The article to be electroplated must have a chemically cleaned surface.
II. The article to be electroplated must form a cathode.
III. The metal to be coated must be kept out of the solution.

Ans s A Only I and II must be fulfilled
X B. Only II and IIT must be fulfilled
X C. Only I and IIT must be fulfilled
#< D. All of I, IT and IIT must be fulfilled

Question ID : 630680437058
Option 11D : 6306801706149
Option 2 ID : 6306801706151
Option 3 ID : 6306801706150
Option 4 ID : 6306801706152
Status : Not Answered
Chosen Option : --

Q.116 Which of the following is taken as the reference for BIS 732-1963 and NE codes?
Ans X A Power plant design

+ B. Main switches and switchboards
X C. Line diagram of GSS

X D. Transmission lines

Question ID : 630680437093
Option 11D : 6306801706291
Option 2 ID : 6306801706289
Option 3 ID : 6306801706292
Option 4 ID : 6306801706290
Status : Not Answered
Chosen Option : --

Q.117 What is the part of a coil in an AC machine that lies in the slots of the core called?
Ans & A Active side of a coil

X B. Back side of a coil

X C. Inactive side of a coil

X D. Front side of a coil

Question ID : 630680437140
Option 1 ID : 6306801706478
Option 2 ID : 6306801706480
Option 3 ID : 6306801706477
Option 4 ID : 6306801706479
Status : Answered
Chosen Option : A
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Q.118 Which of the following is an electronic circuit that is used to increase the level of weak input signals to convert them
into very high output signals?

Ans X A. Transistor as a switch
X B. Parallel voltage regulator
« C. Amplifier

X D. Series voltage regulator

Question ID : 630680437166
Option 1 ID : 6306801706581
Option 2 ID : 6306801706583
Option 3 ID : 6306801706584
Option 4 ID : 6306801706582
Status : Answered
Chosen Option : C

Q.119 In an air circuit breaker. the arc chute is divided into a number of small compartments by using metallic separation
plates called

Ans A arc splitters

X B. protection trip units
X C. moving contacts

X D. manual releasing levers

Question ID : 630680437154
Option 1 ID : 6306801706535
Option 2 ID : 6306801706534
Option 3 ID : 6306801706533
Option 4 ID : 6306801706536
Status : Answered
Chosen Option : D

Q.120 Which type of fault is most difficult to trace and occurs in such a joint or terminator that has become loose?

Ans X A. Earth fault
X B. Short-circuit fault
X C. Low-value series resistance fault

« D. High-value series resistance fault

Question ID : 630680437098
Option 1 ID : 6306801706311
Option 2 ID : 6306801706312
Option 3 ID : 6306801706309
Option 4 ID : 6306801706310
Status : Not Answered
Chosen Option : --
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Ans XA 5000
' B. 6250
XC 1250
XD 2500

Q121 \What js the filament resistance value of a 100 W/250 V lamp?

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680437128

: 6306801706431
: 6306801706432
: 6306801706429
: 6306801706430
: Answered

:B

Ans

X A Ring main system
X B. Distribution board system
X C. Direct conducting system

« D. Tree system

Q.122 Which of the following wiring systems requires cables of short length for installation?

Question ID : 630680437149
Option 11D : 6306801706514

Option 2 ID : 6306801706515
Option 3 ID : 6306801706516
Option 4 ID : 6306801706513
Status : Answered
Chosen Option : D
Q123 Which of the following is an advantage of using MCBs in circuits?
Ans X A Expensive
« B. Faulty circuit can be easily identified.
X C.
They require regular testing to ensure satisfactory operation.
X D. More mechanically moving parts
Question ID : 630680437074
Option 1 ID : 6306801706215
Option 2 ID : 6306801706213
Option 3 ID : 6306801706216
Option 4 ID : 6306801706214
Status : Answered
Chosen Option : B
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Q.124 Identify whether the following statements are true or false.

I. To increase the range of an ammeter, we need to connect a small shunt resistance in parallel with the ammeter.
II. To increase the range of a voltmeter, we need to connect a high series of multiplier resistance in series with the
voltmeter.

Ans X A Statement I is true, but Statement II is false.
X B. Both statements I and II are false.
+ C. Both statements I and II are true.

/< D. Statement IT is true, but Statement I is false.

Question ID : 630680437111
Option 11D : 6306801706361
Option 2 ID : 6306801706364
Option 3 ID : 6306801706363
Option 4 ID : 6306801706362
Status : Answered
Chosen Option : C

Q.125 Which of the following parts of the transformer is used for connecting incoming and outgeing cables of supply and
load?

Ans XA Buchholz relay
+ B. Terminals and bushings
X ¢. Windings
X D. Tap changer

Question ID : 630680437106
Option 1 ID : 6306801706343
Option 2 ID : 6306801706344
Option 3 ID : 6306801706342
Option 4 ID : 6306801706341
Status : Answered
Chosen Option : B
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Q.126 Which of the following figures correctly shows the physical appearance of SCR?
Ans TO-05

TO-92

TO-220

—~MOUNTING
£ HOLE

~—METAL HEAT

TO.03
X 0. HOLE—"
LMETAL HEAT
SINK

Question ID : 630680437162
Option 11D : 6306801706567
Option 2 ID : 6306801706566
Option 3 ID : 6306801706565
Option 4 ID : 6306801706568
Status : Answered
Chosen Option : C

Q127 What is indicated by the following mandatory sign?

Ans A Wear respirator

X B. Use adjustable guard
X C. Wear safety harness

X D. Wear eye protection

Question ID : 630680437036
Option 11D : 6306801706063
Option 2 ID : 6306801706062
Option 3 1D : 6306801706061
Option 4 ID : 6306801706064
Status : Answered
Chosen Option : A
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Q128 YWhat is the nominal value of resistance 200 = 10% with 2 W?
Ans A 2000
X B 400 Q
XC 180Q
XD 2200
Question ID : 630680437071
Option 1 ID : 6306801706202
Option 2 ID : 6306801706204
Option 3 ID : 6306801706203
Option 4 ID : 6306801706201
Status : Answered
Chosen Option : D
Q.129 Which of the following is considered under the category of radio frequency amplifiers?
Ans X A Qutput
X B. Transistor configuration
X c. Coupling
« D. Frequency response
Question ID : 630680437167
Option 1 ID : 6306801706586
Option 2 ID : 6306801706585
Option 3 ID : 6306801706587
Option 4 ID : 6306801706588
Status : Answered
Chosen Option : D
Q.130 Which of the following statements regarding Ohm’s law is/are correct?
I. Ohm’s law gives the relation between the voltage, current and resistance of a circuit.
II. Ohm’s law states that the ratio of the voltage (V) across any two points of a circuit to the current (I) flowing through
it is constant, provided physical conditions, such as temperature, etc.. remain constant.
III.  Inany electrical closed circuit, the current (I) is directly proportional to the voltage (V) and the resistance (R) at
constant temperature.
Ans X A Only I and III are correct
« B. Only I and II are correct
X C. Only I is correct
X D. Only IT and III are correct
Question ID : 630680437054
Option 1 ID : 6306801706134
Option 2 ID : 6306801706133
Option 3 ID : 6306801706136
Option 4 ID : 6306801706135
Status : Answered
Chosen Option : B
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Q.131 What is the percentage slip at rated load of a 400 V, 3-phase, 8-pole, 50 Hz squirrel-cage motor if the full-load speed is
720 rpm?

Ans X' A 204

¥ B. 4%
X C 12%
X D. 8%
Question ID : 630680437137
Option 1 ID : 6306801706465
Option 2 ID : 6306801706466
Option 3 ID : 6306801706468
Option 4 ID : 6306801706467
Status : Answered
Chosen Option : B
Q132 Which of the following is the correct representation of 1/1000000 ©?
Ans XA 1kQ
«B 1uQ
XC | MQ
XD 1 mQ
Question ID : 630680437044
Option 1 ID : 6306801706094
Option 2 ID : 6306801706096
Option 3 ID : 6306801706093
Option 4 ID : 6306801706095
Status : Answered
Chosen Option : B

Q133 Which of the following symbols represents varicap?

Ans XAA Ea K

& D.

Question ID : 630680437159
Option 1 ID : 6306801706553
Option 2 ID : 6306801706554
Option 3 ID : 6306801706556
Option 4 ID : 6306801706555
Status : Answered
Chosen Option : B
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Q.134 What is the ECE of silver if 111.83 mg of silver is deposited on the cathode in 3 minutes 20 seconds by DC current of
0.5A?

Ans X A 1.863 mg/C
B 1.1183 mg/C
X C. 2.365 mg/C
X D. 0.983 mg/C

Question ID : 630680437059
Option 1 ID : 6306801706155
Option 2 ID : 6306801706154
Option 3 ID : 6306801706156
Option 4 ID : 6306801706153
Status : Answered
Chosen Option : B

Q.135 If voltage (V,) =V, sin et and current (L) = L, sin (ot + @), then the voltage and current equations are in

Ans X A in-phase wave

« B. leading phased wave
X C. opposite phase wave

X D. lagging phase wave

Question ID : 630680437115
Option 1 ID : 6306801706377
Option 2 ID : 6306801706379
Option 3 ID : 6306801706380
Option 4 ID : 6306801706378
Status : Answered
Chosen Option : B

Q.136 Which of the following conditions is correct for the normal operation of a transistor amplifier circuit?

Ans A
Forward bias on the emitter base junction and reverse bias on the collector base junction
X B.
Forward bias on the emitter base junction and forward bias on the collector base junction
& C.
Reverse bias on the emitter base junction and reverse bias on the collector base junction
&< D.
Reverse bias on the emitter base junction and forward bias on the collector base junction
Question ID : 630680437164
Option 1 ID : 6306801706573
Option 2 ID : 6306801706575
Option 3 ID : 6306801706576
Option 4 ID : 6306801706574
Status : Answered
Chosen Option : A
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‘Wb per pole on 782 armature conductor?

Ans X A 457 rpm

Q.137 What is the speed of a wave-wound DC motor with 4 poles if the back EMF is 220 V generated with the flux of 0.025

X B. 268 rpm
« C. 338 rpm
& D. 396 rpm
Question ID : 630680437083
Option 1 ID : 6306801706252
Option 2 ID : 6306801706249
Option 3 ID : 6306801706250
Option 4 ID : 6306801706251
Status : Answered
Chosen Option: C
Q138 Which type of power is known as watt-less power?
Ans X A Active power
« B. DC power
X C. Apparent power
+ D. Reactive power
Question ID : 630680437102
Option 1 ID : 6306801706325
Option 2 ID : 6306801706327
Option 3 ID : 6306801706328
Option 4 ID : 6306801706326
Status : Answered
Chosen Option : D
Q.139 According to the distribution board system of wiring, where is it not allowed to have a joint in the cable route?
Ans X A. Switches
X B. Joint boxes
+ C. Line in the wall
X D. Ceiling roses
Question ID : 630680437150
Option 11D : 6306801706517
Option 2 ID : 6306801706519
Option 3 ID : 6306801706520
Option 4 ID : 6306801706518
Status : Answered
Chosen Option: C
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Q.140 In case of a luminous body the energy radiated per second, which is in the form of light waves, is known as
Ans XA candela

X B. luminous density

+ C. luminous flux

X D. luminous intensity

Question ID : 630680437125
Option 1 ID : 6306801706420
Option 2 ID : 6306801706419
Option 3 ID : 6306801706417
Option 4 ID : 6306801706418
Status : Answered
Chosen Option: C
Q.141 Which of the following is generated by corona effect, which may cause corrosion of the conductor due to chemical
action in transmission overhead lines?
Ans X A Heating
X B. Hissing noise
X C. Loss of energy
+ D. Ozone
Question ID : 630680437155
Option 1 ID : 6306801706539
Option 2 ID : 6306801706540
Option 3 ID : 6306801706537
Option 4 ID : 6306801706538
Status : Answered
Chosen Option : B
Q.142 Find the full-load current of a ¥ HP motor operated on 240 V with 85% efficiency and the power factor 0.8.
Ans X A TRA
XB 1.65A
v C 225A
XD 468A
Question ID : 630680437095
Option 1 ID : 6306801706297
Option 2 ID : 6306801706300
Option 3 ID : 6306801706299
Option 4 ID : 6306801706298
Status : Answered
Chosen Option : C
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Q143 The narrow and thin part of a file that fits into the handle is known as
Ans X A edge

X B. heel

« C. tang

X D. Point

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437038
6306801706070
6306801706071
6306801706072
6306801706069
Not Answered

Q144 Two-way switches are generally used for
Ans A staircase lighting

X B. street lighting

X C. decorative lighting

X D. the main lighting of a house

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437117
6306801706387
6306801706388
6306801706386
6306801706385
Answered

A

Q145 1dentify the winding diagram shown below.

Ans A Wave ring diagram

X B. Lap ring diagram
X c. Wave sequence diagram

X D. Lap sequence diagram

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680437130
6306801706439
6306801706437
6306801706440
6306801706438
Answered

A

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/16995953067854393...

98/100



11/23/23, 2:32 PM

cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S14D766/169959530. ..

made without opening the ground?

Ans

X A. Laying the cables along buildings
X B. Laying the cables on racks in air
X C. Drawing the cables directly in ground

+ D. Drawing the cables into duct pipes

Q.146 Which of the following types of methods is suitable when repairs, alterations or additions to a cable network are to be

Question ID : 630680437052
Option 1 ID : 6306801706125
Option 2 ID : 6306801706126
Option 3 ID : 6306801706128
Option 4 ID : 6306801706127
Status : Answered
Chosen Option : D
Q.147 Find the efficiency of a 3-phase, 400 V, 50 Hz delta-wound induction motor which has the line current of 150 A flowing
through it at power factor 0.85 and which gives the output of 100 HP.
Ans X A 55.5%
« B. 83.3%
X C. 91.2%
X D. 75.3%
Question ID : 630680437138
Option 1 ID : 6306801706469
Option 2 ID : 6306801706471
Option 3 ID : 6306801706472
Option 4 ID : 6306801706470
Status : Answered
Chosen Option : B
Q.148 Which of the following methods of starting makes a synchronous motor work as a squirrel-cage induction motor?
Ans X A. By using synchronisation
« B. B}’ u SL[lg 4 pony motor
X C. By starting with the damper winding
X D. By using a man hand roller
Question ID : 630680437132
Option 1 ID : 6306801706447
Option 2 ID : 6306801706446
Option 3 ID : 6306801706445
Option 4 ID : 6306801706448
Status : Answered
Chosen Option: C
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Ans

X A Increase in the power capability of the power system
< B. Reduction in the current

X C. Reduction in the cost of power

« D. Overloading of cables and the transformer

Q149 WWhat happens when the equipment works with a low power factor?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437135
6306801706459
6306801706457
6306801706458
6306801706460
Answered

D

Ans

thumb indicates the direction of
X A EMF

X B. intensity

X C. force

+ D. magnetic field

Q.150 According to the right-hand palm rule, if the finger points in the direction of current in a solenoid conductor, then the

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437069
6306801706194
6306801706196
6306801706195
6306801706193
Answered

D
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